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Question ID:- 1
Development is

(1) A discontinuous process.

(2) A gradual and sequential process.

(3) Influenced by personal factors but not by environmental factors.
(4) Influenced by environmental factors but not by personal factors.

IEEL:]
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Options:-

.1,OptionID -1,

«2,0ption 1D - 2,

« 3, Option ID - 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Which of the following is an environmental factor influencing development ?
(1) Genes

(2) Heredity

(3) Maturation

(4) School
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Options:-

.1, Option ID :- 5,

. 2, Option ID :- 6,

. 3,0ption ID - 7,

. 4, Option ID :- 8,

Answer Given:- 4, Option ID : -8
Question ID:- 3

Which of the following is typically the first and foremost agent of socialisation of very young
children ?

(1) Mass Media

(2) Cultural Practices
(3) School

(4) Family

T FIE agT F O (91 § 7 FAT-AT AHISAH 00 ATAHAF A7 TG T2F 2

1) 519 7=

(

(2) AT T=FA
(3) PrarTerT
(4) TfAT

Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,

. 3, Option ID - 11,

. 4, Option ID :- 12,

Answer Given:- 4, Option ID : -12

Question ID:- 4

Scan with Fast Scan


https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader
https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader

According to Jean Piaget's theory of cognitive development, at which stage are reflexes
dominant and primary way of learning ?

(1) Sensorimotor
(2) Preoperational
(3) Concrete Operational

(4) Formal Operational

St TS & |smreRs B frgia F e, B =vn 07 aat=gs Gt
FATERTH FT T4TH 317 ITatH7F /T0H 2147 2 2

Options:-

.1, Option ID :- 13,

+ 2, Option ID :- 14,

« 3, Option ID :- 15,

. 4, Option ID - 16,

Answer Given:- 1, Option ID : -13
Question ID:- 5

According to Jean Piaget, the process of changing the existing schemas to make sense of new
information is called :

(1) Centration

(2) Accommodation
(3) Disequilibration
(4) Perception

| AT AT, TE ST A1 77 7371 7 form wepan = § 3=z

(1) Frar
(2) FHTATSH

(3) FAAAATFT
(4) 7=

Options:-
.1, Option ID :- 17,
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. 2, Option ID :- 18,
. 3, Option ID :- 19,
. 4, Option 1D :- 20,
Answer Given:- 2, Option ID ; -18

Question ID:- 6

The concept of ‘Zone of Proximal development’ has been proposed by _ .
(1) Jerome Bruner

(2) B.F. Skinner

(3) Lev Vygotsky

(4) Howard Gardner

‘THTT=T B 77 o 9y = 7 7 e atmartEa eroar 2

Options:-

.1, Option ID :- 21,

. 2, Option ID :- 22,

. 3, Option ID :- 23,

. 4, Option ID ;- 24,

Answer Given:- 3, Option ID : -23
Question ID:- 7

Lev Vygotsky conceptualised development as the transformation of into

(1) schemas, concepts

)
(2) socially shared activities, internalised processes
(3) reflexes, schemas
4)

4) individual activities, external processes

@ AT T FEr F T T 519 F =9 § TFoaq
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Options:-

.1, Option ID :- 25,

. 2, Option ID :- 26,

. 3, Option ID :- 27,

. 4, Option ID :- 28,

Answer Given:- 2, Option ID : -26

Question ID:- 8

Lawrence Kohlberg proposed a sequence of

stages of moral reasoning among
children and adults.

(14

(2)6

(3)8

(4)10

AT FIEATT F AFT A7 AT § AT A% ] ATAT 774 g1 =
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Options:-

.1, Option ID :- 29,

. 2, Option ID :- 30,

. 3, Option ID :- 31,

« 4, Option ID :- 32,

Answer Given:- 2, Option ID : -30
Question ID:- 9

As per constructivist approach which of the following should not be promoted among students
?

(1) Problem solving
(2) Guided discovering
(3) Associative inferring

(4) Rote memorising
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Options:-

.1, Option |D :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 10
Which of the following is correct in context of Intelligence Quotient (IQ) tests ?

1) They measure intelligence in a very comprehensive manner.

(1)
(2) There is a certain error of measurement in |Q tests.
(3) 1Q tests are free from any kind of cultural bias.

(4)

4) 1Q tests are always highly reliable.

Tz @Ry (1Q) Tt 7 F=d ¥ {eforfaa § 7 F9-97 F99 921 ¢ 2
(1) 7 g =TT T 7 36 A1 A07A 2 4

(2) FfZ @F=a T & gro= it v {fEm g fr 1t 2

(3) A5 A= T Bt oft e 3 AT T 7 g 2

(4) Tt e T e serfaE eaatT 21 2

Options:-

.1, Option ID :- 37,

. 2, Option ID :- 38,

« 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Question ID:- 11
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Theoriests differ in their conceptualisation of relation between language and thought.
While Jean Piaget believes influences

, Lev Vygotsky suggests that
directs

(1) cognition, language; language, thought
(2) language, cogntion; thought, language
(3) environment, language; heredity, thought
(

4) thought, heredity; language, environment

FrgTearar 9T d@7 @9 F qe7 799 7 TATOEE 9T § 17 § 49T
TEAAZ |

At = oS #1 9T 2 &
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Options:-

.1, Option ID :- 41,

. 2, Option ID :- 42,

. 3, Option ID :- 43,

. 4, Option ID :- 44,

Answer Given:- 1, Option ID : -41
Question ID:- 12

Over representation of males over females in textbooks is an example of :
(1) Gender bias

(2) Gender equity
(3) Gender equality
4)

4) Gender neutrality

TR § Afgerdr v gaar 7 At F1 oafes gfAAtae ger B
ud('(,]l?;?
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Options:-

.1, Option ID :- 45,

. 2, Option ID :- 46,

. 3, Option ID :- 47,

. 4, Option ID :- 48,

Answer Given:- 1, Option ID : -45

Question ID:- 13
A teacher should

(1) consider students’ pace of learning while teaching
(2) ignore students’ pace of learning while teaching

(3) consider pace of best performing students only
(

4) ignore individual differences in students’ pace of learning

T forer forfer =

(1) T2 ¥ 2o At F dwae £ 77 97 e 34 =3 |

(2) T2 F FvTe At F v £ 17 F1 qmar F7 34w A |
(

(

3) FA F=egt TAoaT=s 9 Arer FA=mdt i 77 97 o T4 3T
4) FE=rter o e 1 w7 § =t faeaate 1 A4 FoA AT

Options:-

.1, Option ID :- 49,

« 2, Option ID :- 50,

. 3, Option ID :- 51,

. 4, Option ID :- 52,

Answer Given:- 1, Option ID : -49

Question ID:- 14

In order to utilise assessment for the purpose of learning a teacher should
(1) Conduct exams at the end of session.
2) Use standardised tests only.

)
2)
(3) Do assessment on the basis of child’s involvement with on-going activity.
(4)

4) Make half-yearly exams compulsory for all.
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Options:-

.1, Option ID :- 53,

. 2, Option ID :- 54,

. 3, Option ID :- 55,

. 4, Option ID :- 56,

Answer Given:- 3, Option ID : -55

Question ID:- 15
Which of the following is likely to hinder critical thinking among students ?
(1) Promoting use of analogies
(2) Asking open-ended questions
(3) Giving reflection time
(4)

4) Encouraging rote memorisation

et 5 7 Bas zr7 GF=nteaa 7 9=y &0 1 3mar 729 f71
TATAAT 2 2

,"'Tu_u

(1) AT=THT F THNET T T2ET =9 7
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(3) T A F Form e yAw A

(8) 7 AT o (el AT AT A
Options:-

.1, Option ID :- 57,

» 2, Option ID :- 58,

. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16
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For successful inclusion of students belonging to low socic-economic groups, it is important to

1) teach using standardised curriculum

(1)

(2) ignore their socio-cultural context

(3) promote a school culture conducive to developing sense of belonging
(4)

4) practice only those traditions which are prevalent in dominant cultures

e AT F- AT+ 79l 7 J9e 739 Ara [F=nf9at F a9 JHa9=
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(3) TTFEATHAT  =Te AT =1 Foed ATeAT et He5ta F1 73T F7
(4) FAT TIAATAT AFHAAT § THAT TATH FT A=A F7 A1

)
)
)
)

Options:-

.1, Option ID :- 61,

. 2, Option ID - 62,

. 3, Option ID :- 63,

. 4, Option ID :- 64,

Answer Given:- 3, Option ID ; -63

Question ID:- 17

Inserting an incorrect word, substituting and skipping words randomly, mixing up the order of
words in sentences are explicit signs of

(1) Learning disability

(2) Autism

(3) Attention deficit hyperactivity disorder

(4) Hearing impairment

TAT 9155 FIEAT, 9521 FT ATAATHA =T T TZAAT A7 GIE 297, TTFIT § 91537

(1) ATETH FqTAT
(2) AT (AT
(3) eATATATA TH FTAATFTAT AFT (ADHD)
(4) A= FTTAT
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
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. 3, Option ID :- 67,
. 4, Option ID :- 68,
Answer Given:- 1, Option ID ; -65

Question ID:- 18

barrier ?
(1) Electronically formatted lecture notes
(2) Audiotaped lectures

(3) Tactile models of graphic materials

(4) Written descriptions and diagrams

FreaTha Bt F e F1 T a9 F T, FEtatas § 79 w91
FIOH TF AT4F a9 AFAT ¢ ?

Options:-

.1, Option ID :- 69,

. 2, Option ID :- 70,

. 3, Option ID :- 71,

. 4, Option ID :- 72,

Answer Given:- 4, Option ID : -72

Question ID:- 19

Students with Autism typically demonstrate :

(1) excellent verbal communication skills

)

2) hyperactivity

3) repetitive behaviour
)

(
(
(

4) urge for social interactions

AT J9A FE=mdT Aoz =7 71 fra =Egm TRt T 22
(1) S=FeZ HTTF AR Ar9rer

BEGIERIEIEE
(
(

4) FTETF datrarar F o =g

For successful inclusion of students with visual impairment, which of the following becomes a
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Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
« 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

Which of the following is correct about students who are gifted ?

(1) They learn with high efforts.

(
(3) They have above-average ability.
(

)

2) They take much longer to perceive information.
)
)

4) They lack creativity and originality in ideas.

gTrareet Frenfien F av § Rt f g am-aragi 2 2
OEERIPER G-k ea il

(2) T TR FT AHAT H ATLH AHT A7 3 |

(3)

(

3) TAH AHA-HT-ATIF /AT AT 2 |
4) T =TT |/ v=ATeHEAT A wiferwar £ w4 2 2

Options:-

.1, Option ID - 77,

. 2, Option ID :- 78,

. 3, Option ID :- 79,

. 4, Option ID :- 80,

Answer Given:- 3, Option ID : -79

Question ID:- 21
Assertion (A) :

Reason (R) :

Learning is most effective when done through passive listening.
Choose the correct option :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

A teacher should dominantly use lecture method to teach students in primary grades.
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Hrmae 7 TEFAT T SATIT T T ST 2 5 A AT amnr F /e g
T ATATZ |

) (A) 7 (R) FTT AET € 417 (R), (A) T FTET =020 F771 2

2) (A) 47 (R )#ﬁqﬁ%f«ﬁmm, (A) F 7T =T T g
) (A) 2T € @t (R) 717 2

4) (A) 7 (R) 24T 77 &

Options:-

.1, Option ID :- 81,

+ 2, Option ID :- 82,

. 3, Option ID :- 83,

. 4, Option ID :- 84,

Answer Given:- 4, Option ID : -84

Question ID:- 22

Brain is of learning from real world contexts, hence schools should emphasise upon
_ leaming.

(1) capable, constructive

(2) incapable, discovery

(3) capable, textbook based

(4) incapable, decontextulised

ATATAF AT & FFAT 7 Had F o qfeaes 2, Tt BT
AT T7 17 FAT AT |

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,
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. 4, Option ID :- 88,
Answer Given:- 1, Option ID ; -85

Question ID:- 23
Constructivism advocates

(1) Production of new knowledge by learners
(2) Rejection of new knowledge by teachers
(3) Reproduction of knowledge already gained
(4)

4) Display of knowledge through rete memarisation

THATATE T A #ATE ?

(1) foveatf<art 2T 717 07 F 75T FT
(2) forea=t ZTeT 7 T FT AFATIA A
(

(

3) T2 7 AT T F TAeAET 7
4) 7= ATE TR S F a=mA_ A

Options:-

.1, Option |D :- 89,

+ 2, Option ID :- 90,

. 3, Option ID :- 91,

. 4, Option ID :- 92,

Answer Given:- 1, Option ID : -89
Question ID:- 24

Providing multiple means of is important to include all learners in class.
(1) engagement

(2) competition

(3) discrimination

4)

4) non-comprehension

FAT & AT Foreamhyar &7 omiea F749 F oo EIECEICEIEIG]
FIAT AZ=AT 2 |

Options:-
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.1, Option ID :- 93,

. 2, Option ID :- 94,

+ 3, Option ID :- 95,

. 4, Option ID :- 96,

Answer Given:- 1, Option ID ; -93
Question ID:- 25

The strategy of dividing the problem into a number of intermediate subgoals and then figuring
out means for solving each intermediate subgoal is referred to as :
(1) verbalisation

(2) analogical thinking

(3) means-ends analysis

(4) functional fixedness

Wwﬁ#maﬁW-mﬂﬁﬁﬁwﬁﬁﬁﬁqﬁraﬂvﬁvm
HETAAT IT-A%T FT g F7d F ATIAT FT TAT ANAT FAT FZATAT 3 ?

%

1

(1)

(2) Fg=aTHF ==
(3) =T J?rﬂ?rﬁraﬁw
(4)

4) FTATHF A7 AT (ST2AT)

Options:-

.1, Option ID :- 97,

. 2, Option ID :- 98,

. 3, Option ID :- 99,

. 4, Option ID :- 100,

Answer Given:- 2, Option ID : -98

Question ID:- 26

Assertion (A) :

A teacher should explore the students’ ‘naive’ theories about concepts to be taught and build
the lesson upon them.

Reason (R) :

Students’ ‘naive’ theories are a kind of alternative conception and are valuable for advanced
learning.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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(1) (A) 97 (R) TT1 72T 2 417 (R), (A) T FET =077 797 E
(2) (A) 97 (R) 31T 72T £ At (R), (A) FT 78T =T 781 £
(@(M”ﬁ?ﬁfﬁﬁ(R)W*

(4) (A) 7 (R) =TT T &

Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
+ 3, Option ID :- 103,

. 4, Option ID - 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27
Assertion (A) :

Schools should promote pedagogies which don't emphasize on mere reproduction of materials
learnt.

Reason (R) :
Emotions and cognition are independent of each other.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false
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(3)(/"\)‘#3“r @t (R) T €
(4) (A

- )W(R)”'IT-ITTI_FT@

Options:-
.1, Option ID :- 105,
. 2, Option ID :- 106,

. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

Which of the following is an example of intrinsic motivation ?

1) Studying to win a cash prize.

(1)
(2) Performing a dance to get praise of peers.
(3) Participating in a race to come first.

(4)

4) Doing research on a topic out of curiosity,

(R N o e B e 1 1 O e e 701 e P R e 1 e o TR o i

(1) 9% T7FAT AT & (70 9278 F747 |
(2) ST ATEIAT ¥ FOTAT T F FoOT To7 F7 7290 F7A7 |
(3) TIH FAT T7 AT F o7 22 IIATHET § 907 747 |
(4) Forsramasr Gt A 77 o F7=T

Options:-

.1, Option ID :- 109,

« 2, Option ID :-110,

. 3, Option ID :- 111,

. 4, Option ID :-112,

Answer Given:- 4, Option ID : -112

Question ID:- 29
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Learning gets influenced by :
(i) classroom environment
(i) availability of resources
(i) pedagogy of teacher
(iv) readiness level of students

1

2

(1) (i) only
(2)
3)
(4)

i), (ii) only
i), (ii), (iii) only

4) (i), (i), (iii) and (iv)

(
(
(
(
featerta & 7 F=-7 1o Hwaq 1 7T 71 AT w2 2

(i) F4T FT TfvFer

(i) FHATEAT T ITAAT

(i) Torer 7 Porermor=r et

(iv) =i F qeoear w1 &=

(
(
(
(

Options:-

.1, Option ID - 113,

. 2, Option ID :- 114,

. 3, Option ID - 115,

. 4, Option ID :- 116,

Answer Given:- 4, Option ID : -116

Question ID:- 30

A conducive teaching-learning environment requires :

(1) maximization of threats

(2) minimization of distractions

(3) ignorance of individual differences
(4)

4) rigid pedagogical practices
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(1) 2
(2)W(WW)HWW
(3)
(4):

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : MATH_Q31-45_P1_CTET

Question ID:- 31

In Roman numerals,

(XL + LX = LXXIV) is equal to
(1) CXXVI

(2) XXVI

(3) XXXIV
(4) LIV

e
(XL + LX — LXXIV) 77147 &

1) CXXVI

(1)

(2) XXVI
(3) XXXIV
(4) LIV
Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 3, Option ID ; -123

Question ID:- 32
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(0.04 x 0.35+ 7 x 5) is equal to

(1)0.01
(2)0.001
(3) 0.0004
(4) 0.00004

(004 x035+7 x5)3a7 a7 3

(1) 0.01
(2) 0.001
(3) 0.0004
(4) 0.00004

Options:-

.1, Option ID :- 125,

. 2, Option ID :- 126,

. 3, Option ID :-127,

. 4, Option ID :- 128,

Answer Given:- 3, Option ID : -127

Question ID:- 33

From the following options, identify a number which is divisible by 3 and 4 but net divisible by
B

(1)588

(2)612

(3)806

(4)810

o N s N .

IGRZ I

Farsy

=]
S

T et § |, g "I TgAra, ST 3 AT 4 A AT g, e 97

/:\LPJ E)

(1) 588
(2)612

(3) 806

(4) 810
Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,
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. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

What should be subtracted from (186 + 215 + 46 — 170) to get 188 7

Options:-

.1, Option ID :- 133,

+ 2, Option 1D :- 134,

. 3, Option ID :- 135,

. 4, Option ID :- 136,

Answer Given:- 2, Option ID : -134

Question ID:- 35

1
Anu had 8 packets of 36 toffees each to distribute on her birthday. She distributed n of the

3 1
toffees among her friends and g among her teachers. She kept 3 of the toffees for her

brother. How many toffees are left with her now ?
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A F T ATT THEA 97 A2 F o 36 T AT 8 T o7 | g AT
- e - _— 3 - A oA s ~.
FT TF-STATT AT AT AT F AT o T e forert & 7tar | 37 =t

(M1
(2) 12
(3) 23
(4) 24
Options:-

.1, Option ID :-137,

. 2, Option ID :- 138,

. 3, Option ID :- 139,

. 4, Option ID :- 140,

Answer Given:- 3, Option ID : -139

Question ID:- 36

[ am a S digit number with all different digits. | am divisible by 2 but not by 4. Digit at my tens
place is the smallest prime number. Digits at hundreds and thousands places are the second
odd number and the third prime number respectively. Digit at ten thousands place is double of
the digit at tens place. Whoam | ?

(1) 25310

(2) 26314

(3) 45326

(4) 46320

# 5 =1 A1 mF T g ﬁrﬂ?mﬁﬂ?mmmﬁzvxﬁm T 4
TSN | Y FETE F TATH AT AF T GIAT AT AT £ | FFE 797 290 R
2D ﬁmar;?ﬁrﬁwwmnﬁwﬁmﬂﬂwwwwawm
FAF I F AT AT TP | FFFE ?

(1) 25310

(2) 26314

(3) 45326

(4) 46320
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,
. 4, Option ID :- 144,
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Answer Given:- 2, Option ID : -142
Question ID:- 37

What is the measure of the angle formed by the hands of a clock at 3:30 o'clock ?

3:30 &t TET ¥ AT F A= 77 Fror ¥ qT7 FAT FHAT 2
(1)45°

(2) 60°

(3) 75°

(4) 80°

Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,

. 3, Option 1D :- 147,

. 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38
Select the correct statement :

(1) Length of diameter is half that of the radius of the circle.
(2) Every chord is a diameter of the circle.
(3) Many radii can be drawn in a circle.

(4) Circumference of a circle is three times its diameter.

TR AT FAT

(1) T 7 =T AT oo 7 TFa1e F7 a7 21 2 |
(2) T ST 7 T 29 gt 2 |

(3) T 7 @« FProamt Hi=T A1 AFAT L |

(4) 7= F1 Tfvfer 37F = AT AT AT EET 2
Options:-

.1, Option ID :- 149,

. 2, Option ID :- 150,
. 3, Option ID - 151,
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. 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

Which of the following cannot be the sides of a triangle ?

()3 em,4cm,5cm
(2)6 cm, 6 cm, 6 cm
(3)7cm, 7cm, 15 cm
4)

4)12cm, 15cm. 7cm

Rresferfer & & 1= Bl Frgst 1 qemt agtar AT S 2

1) 3ecm 4 cm, Scm

(M

(2)6cm, 6 cm, 6 cm
(3)7cm, 7cm, 15 cm
(4)

4)y12cm, 15cm, 7 cm

Options:-

.1, Option ID :- 153,
+ 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Height of Aashu is 5 feet 5 cm and height of her friend Neetu is 4 feet 20 cm. How much taller
(in cm) is Aashu than Neetu ? (Use 1 foot = 30 cm)

3"|T9I 5?5 cm A %’ﬁ"‘)ﬂ dﬂaf. Fl‘ar?h %4‘1’7{20 cm Fﬂ?ﬂ'é‘ | yrgl;ﬁ:ii{-
PRt =t (cm & ) £ 2 (1 5% = 30 cm F71 3T Fform)

Options:-
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.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,
. 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Question ID:- 41

The area of a rectangle is 252 em”. If its length is 18 cm, then what is its perimeter (in cm) ?

.\ D o c & o
TF A T AFEA 252 cm” 2 | AR THAT @9TE 18 cm 2, AT THET AT
(cm ¥ ) T 2T 2

Options:-

.1, Option ID :- 161,

. 2, Option ID :- 162,

. 3, Option ID :- 163,

. 4, Option ID :- 164,

Answer Given:- 3, Option ID : -163
Question ID:- 42

The length, breadth and height of a cuboidal tin box are 32 cm, 20 cm and 25 cm respectively.

It contains oil up to the height of 18 cm. How much more oil (in cm"‘) can be poured in the tin
box ?

(1) 4280
(2) 4440
(3) 4480
(4) 4840
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T FATITET A9 F = ff wans, Seve auv S99 #9er: 32 om, 20 om 74T
25cm Z | TAH 18 cm FATE FF 990 W1 2 | 27 &9 & = 7 ofiv frAar a7

3 = 3
(cm H) STAT AT HFAT E 7

(1) 4280

(2) 4440

(3) 4480

(4) 4840

Options:-

.1, Option ID :- 165,

. 2, Option ID :- 166,

. 3, Option ID :- 167,

. 4, Option ID - 168,

Answer Given:- 3, Option ID : -167

Question ID:- 43

What comes next in the following pattern ?
46,3524,_

(1)1

(2)2

(3)6

(47

Options:-

.1, Option ID :- 169,

. 2, Option ID :- 170,

. 3, Option ID :- 171,

. 4, Option ID :- 172,

Answer Given:- 3, Option ID : -171

Question ID:- 44
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The marks scored in an examination by Divya in 5 subjects, when shown in a pie chart, make
central angles as follows :

Hindi 84°
English 60°
Mathematics 63°
Science 57°
Social Science 96°

if she obtained 105 marks in Mathematics, then what is the total of marks obtained by her in
these 5 subjects ?

(1) 580
(2)800
(3)650
(4)720

Pt Tfher §, ot Bt ® fem ¥ arAer 7 0w 7 9 ¥ 39 T 3w
FeATT T TH THT T

et 84°
ST 60°
it 63°
EEIG] 57°
CIEIEEREEIGE 96°

72 37 A | 105 oF far 2, A1 79 or=t Aot § 9w 3T A 39 4w
1) 580

2) 600
3) 650

(
(
(
(4) 720

Options:-

.1, Option 1D :- 173,

« 2, Option ID :- 174,

. 3, Option ID :- 175,

. 4, Option ID :- 176,

Answer Given:- 1, Option ID : -173

Question ID:- 45
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Select the correct statement on the basis of data given below :

Fruits Liked by number of children
Orange 24
Banana 32
Mango 16
Apple 28

(1) Mangoes are most liked by children.
(2) Children liking oranges are one-third of the total children.
(3) Children liking either orange or banana are two times the children liking apples.

(4) Children liking apples are half of the total children.

= 3 T ATRET F AT T "L FAT {0

T T FI THL F7d ATT T35
qeaT 24
FAT 32
aH 16
LE} 28

(1) 7= AErF == A T 774 2 |

(2) AFATT TAE T ATA T=F Fof A=AL Al AT FT TF-TA21% 2 |

(3) FFATT AT FeAT THTE F7 o ATA q=d AT TAZ F7d ATA F=A1 H1 AT 1 [[A

Ea
¢

(4) TF THE FIA AT T=o LA J=A1 2] JAT % A4 3 |

Options:-

.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Subject : MATH_Q46-60_P1_CTET

Question ID:- 46
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Which among the following is/are true about mathematical games ?
A. Mathematical games are like open-ended play.

B. Mathematical games are governed by a set of rules and have a clear
underlying structure.

C. Mathematical games have specific mathematical cognitive objectives.
Choose the correct option :

(HYAandB
(2)Aand C
(3)Only C

(4)Band C

wTfirerer et & A & featorfa 7 7 w0 ae 28 2
A. TOETT T 90 =T AT At F THE 2
B. I &t forst & wa==T g7 AT 219 § 4 3w v

C. AT &ei % fAfore qivETr S =TT 3297 219 2 |
et AT 1 == e
(VA4 B
(2)A#™ C
(3)Fa@ C
(4)B#7C
Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,
. 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47

The first step in problem-solving method is to

(1) Test the hypothesis

)
(2) Define the problem
(3) Formulate hypothesis
(4) Identify the problem
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THET-AHTLTT THH 71 TIH F707 2

Options:-
.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,
. 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188
Question ID:- 48
Which among the following activities is/are appropriate to introduce the concept of
measurement of length to primary grade students.
A. Use children’s hand span to measure length of different objects.
B. Use of metre scale to measure length of different objects.

C. Use pencils, pens, etc to measure the length of different objects.
Choose the correct option :

(1)Aand B
(2)Aand C
(3yBand C
(4)Only B

ot v F Pl #1 @Ere 2 T a7 0= w7 F o
fefafaa 5 7 #-7ya GemsarT 3o 22 2

A. BT v 7 dETe 7T F o == F AT F ST F9AT |
B. fAfaw awgstt # @ars 719w F form v #i= &6 F:7 IR FAT |

C. fAfaet avgan it e 7w F o e, 79, TefE #1 g e Fear
GEIAEERZ AR IE L

(1)A 4~ B
(2)AHT C
(3)B#™ C
(4) F37 B
Options:-

.1, Option ID :- 189,
« 2, Option ID =190,
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. 3, Option ID :- 191,

. 4, Option ID :- 192,

Answer Given:- 3, Option ID : -191
Question ID:- 49

Following phrases represent various strategies for which of the following single digit whole
number operations ?

Count all, count on or make a ten
(1) Addition

(2) Multiplication
(3) Division

(4) Subtraction

w1 1 frear, = =0 11 3 =

A

Options:-

.1, Option ID :- 193,

. 2, Option ID :- 194,

. 3, Option ID :- 195,

. 4, Option ID :- 196,

Answer Given:- 1, Option ID : -193
Question ID:- 50

A primary grade mathematics teacher develops the concept of numbers and numbers sense
with the help of sets of familiar objects such as 2 pens, 3 fruit, 5 boys, 7 girls etc. By

introducing the number as a description of a set of objects the teacher has focussed on
(1) Ordinal aspects of numbers.

(2) Cardinal aspects of numbers.
(3) Nominal aspects of numbers.
4)

4) Natural aspects of numbers.
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TTATHF T77 F T Fr v TR St v " & ave i dAET o 7
famer 2 997, 3 FeAl, 5 WA, 7 ASHAT TeATts qUi =T T4 F Aag==341 7
TETIAT 7 F7A4T1 2 | aqA/AT F AH==7 F =7 § FAT 7T T7=7 F719 g0
forferT F «am= Ff39 M g

Options:-

.1, Option ID :- 197,

. 2, Option ID :- 198,

. 3, Option ID :- 199,

. 4, Option ID :- 200,

Answer Given:- 4, Option ID : -200
Question ID:- 51

While counting the number of objects in a set, a child counts few objects twice. Which
pre-number concept needs to be strengthened in the child ?

(1) One to one correspondence
(2) Classification

(3) Hierchichal Inclusion

(4) Identification

TF AH=3T | 51 H1 =47 {79 7877, 0 F==7 T T4 41 137 777 {eqr 2
| T=F | FI9-H1 AAT-TH TFeqdT 51 q32 F0F 5.1 AAGTFAT 2 2

Options:-

.1, Option ID :- 201,

« 2, Option ID :- 202,

. 3, Option ID :- 203,

. 4, Option ID :- 204,

Answer Given:- 3, Option ID : -203

Question ID:- 52
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A class il student solves a subtraction problem as
101
-93

092

As a mathematics teacher how will you support the student to rectify the error in most

appropriate manner ?

(1) Ask the student to see the answer of other students and correct the mistake.

(2) Solve the problem on the blackboard and direct the student to observe the algorithm used
carefully.

(3) Give at least 10 similar types of problems to practice.

(4) Ask the student to count backwards after representing 101 and 93 on a number line before
teaching formal algorithm.

FEAT |11 7 7 =T w7 999 T TR g AT S
101
-93

092

T F1 U foraAE g F AT AANAE STAT A00F F AT Al 7 q4r F oo
Pt =1 7ads & T T 2

(1) F=redt =1 7o Rt =1 397 33 57 auer {f= qura F o wg

(2) 9ATHIZ 77 T FT ZA HoT v FEmdt 1 vgF T wew B F1 omEE
(3) FH-T-FH 10 THTH TFT F ToF TS & T4 e |

(4) Fra=rtvE Fam Bt = fOremr #9971 97, der Yar 97 101 @7 93 Ter
F7 Pt 1 we=wrHT {3 o A

Options:-

.1, Option 1D :- 205,

« 2, Option ID :- 206,

. 3, Option ID - 207,

. 4, Option ID :- 208,

Answer Given:- 2, Option ID : -206

Question ID:- 53

Which of the following is the most appropriate reason for conducting formative assessment
tasks in mathematics classrooms ?
(1) It helps the teachers to identify gifted learners in the classroom.

(2) Formative assessment tasks help teachers to design timely interventions in case of
difficulties faced by children.

(3) Formative assessment tasks are used for labelling of learners.

(4) Formative assessments help build competitive environment in the classroom for the
betterment of mathematical learning.
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T A FAT F THATHT AFAT FIA o (HATET H T FI-AT A TATAF
ITLH 2 ?

(1) FeAT H HaET ferrerA T i wg= we § forern/forterer Y wEm A g
|

(2) 7HATEE AFAT, AT T2A A oo 1 agT A et T A
F1 ATHAT FFTT H A2 F74T 2 |

(3) THATHE ATFAT, ATATHFATAT F A7 § AZHF 2 |

(4) THATEHF AFAT FAT H O ATERTH F qET 2 TATI70F ATATE0
AT 7 § AET FATE |

Options:-

.1, Option ID :- 209,

. 2, Option ID :- 210,

. 3, Option ID - 211,

. 4, Option ID :- 212,

Answer Given:- 2, Option ID : -210

Question ID:- 54

As per National Curriculum Framework 2005, Position paper on Mathematics, appreciating the
richness of ‘folk algorithms' during classroom process will not help in developing

(1) Cultural Values.

(2) Formal Algorithm.

(3) Child's perception of Mathematics.
(4) Child's analytical skill.

TTEETT TEEAT =0AT 2005 F A0 F AT T F AGATT, FATA ahnara §
T Fore Pt 1 Aggar F1 7oA, [eew R § wgrar agt v+, a2

=
Q

(1) AFAF T

(2) |17 Fere FAfer

(3) &= T TUHTT =ATH
(4) === 7 Freeram wrerer
Options:-

.1, Option ID :- 213,

+ 2, Option ID :- 214,

« 3, Option ID :- 215,
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. 4, Option ID :- 216,
Answer Given:- 1, Option ID ; -213

Question ID:- 55

A class IV child is able to recognise the geometrical figures by their shapes as ‘a whole’ and

compare the figures with their prototypes of everyday objects.

As per the Van-Hiele's Theory of grometric thinking, the child is at
(1) Axiomatic
(2) Analysis

(3) Visualisation
(4) Deduction

FAT |V T F=AT SATTHATT AT FT IAHT AFIAAT 1 T00 =T H TgAH T0AT 2

level.

A7 ST TFAAT F AT H 3T AL AT T AT F7ATE |

AT F SATHATT =9 ¥ fgia F aqm e, =1

(1) F=ratag
(2) Froer

(3) ZeAr=FTm
(

4) e

S S e S
rull

Options:-

.1, Option ID :- 217,

+ 2, Option ID :- 218,

. 3, Option ID :- 219,

. 4, Option ID :- 220,

Answer Given:- 2, Option ID : -218

Question ID:- 56

Which skill seems to be most important for a mathematics teacher ?

3) Ability to create lasting memories for students.

)
2) Provide all the information to the students to solve the problem.
)
4) Enable all students to do well in a test.

(
(
(
(

1) Develop curiosity in students to search for solutions to problems.

T U

=
<
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i F BT forsas 7 o we-a Freme af 1 ager o v a2 E 2
(1) FTHTTAT &7 THTETT Fror & fory Fznfdat § e T2 #9497
(2) FHEIT &1 AATAE F79 & form =t w1 5907 7347 9219 F:747 |
(3) Pt & o Seweareft sqfaat g F=7= £ s

(4) FAT 79T § AgAT 729 & o wdr FEnfiet #7199 3= o

Options:-

.1, Option 1D :- 221,

. 2, Option ID :- 222,

. 3, Option ID :- 223,

. 4, Option ID :- 224,

Answer Given:- 1, Option ID : -221

Question ID:- 57
According to National Curriculum Framework, 2005, assessments in mathematics at primary
level should focus upon

A. Assessing students’ mathematisation abilities.

B. Assessing procedures and memorisation of formulae.

C. Assessing processes rather than knowledge.

D. Assessing knowledge of algorithm to solve a specific problem
Choose the correct option :
(1) Only A
(2)BandD
(3)AandB
(4)Aand C

T U= FeAr, 2005 F OAGAT, TR FAY U7 A {4
o7 FEF gET AR |

A, FA=tiT $i wivrFTr TEEarar F arFan

B. FAferf o= =1 #1727 F s

D. T Afor= 7arer F1 27 797 #1 T AT F 9 F A

e Eﬁ'-‘{ﬁ"l‘l’ .

1
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.1, Option ID :- 225,

. 2, Option ID :- 226,

. 3, Option ID :- 227,

. 4, Option ID :- 228,

Answer Given:- 1, Option ID : -225
Question ID:- 58

What is the ‘Higher Aim' of teaching mathematics according to National Curriculum
Framework, 2005 ?

(1) To prepare the learners for technical professions.
(2) To help the learners acquire social and moral values to lead a fruitful life in the society.
(3) To help learner to develop reasoning and critical thinking skills.

(4) To develop life-skills related to livelihood among learners.

TTET TTE=AT 974, 2005 F AGATY T F forAm #7357 awr FAr 22

(1) forearfoert #r At =raamt % o 3 #7947

(2) foreartaort =1 7uTS § TE AFA AT Sq & form A vA A T get
FT AT § 33 F9A7 |

(3) fovearfoart =1 A= v qFwa A Frerat f FFe F 957 #7947 |

(4) Tttt § 7T AT SAF-FA9TAT FT AR F747 |

Options:-

.1, Option ID :- 229,

. 2, Option ID :- 230,

. 3, Option ID :- 231,

. 4, Option ID :- 232,

Answer Given:- 1, Option ID : -229

Question ID:- 59

Which among the following is not a feature of creative thinking in Mathematics ?
(1) Generate original ideas and approaches to solve problems.

(2) Flexible and divergent thinking.

(3) Use the given procedure for solving problem.

(4)

4) Multiplicity of approaches to solve the problem.
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fereaferfaa & 7 F-ar i F oAt a7 o agi e ?

(1) FHFATAT = THTLATT g Aifer® H=71 T4 JI0ET 0 Ieded 747 |
(2) AHAT TF FIATT AT |

(3) FHHIT F HAHATHTH 27 =20 T F57 7 I7R0 F747 |

(4) FHEAT FHTAT g4 JgA SUNTHT FT IO F747 |

Options:-

.1, Option 1D :- 233,

. 2, Option ID :- 234,

. 3, Option ID :- 235,

. 4, Option ID :- 236,

Answer Given:- 4, Option ID : -236
Question ID:- 60

Which of the following is most appropriate for ‘questioning’ as a Pedagogic tool in a
mathematics classroom ?

(1) It must start from gifted students.
(2) Asking too many questions in a small span of time will always lead to conceptual clarity.

(3) Students will develop a better conceptual understanding if a teacher asks a question and
answers it herself/himself.

(4) It should help in assessing errors and misconceptions of students.

freaferfaa & 7 F19-a7 wfvm 1 Far F forguerm=ior s F =7 § 999

FAT F HAZT H AAMAF ITAF 2 ?

(1) 2 Frarameqt F=TrET 7 AT BT S A |

(2) ATEY THT qATT F AATAF TIF THAT TET ATITTONEHF FITZAT HT A7 of
AT E |

(3) F=eft v FEAT dEeaaTeAE qHE AEA #9997 foraw =T gem 1A

(4) 7= Tt 7 et e g7 F darFad § Ggraar F741 Jraw |

Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
« 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Subject : EVS_Q61-75_P1_CTET

Question ID:- 61
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Consider the following statements about elephants :

A. Because of their heavy body structure elephants like to take too
much rest.

B. Even three month-old baby elephants generally weighs about 200
kilograms.

C. They love to play with mud and water.
D. In an elephant herd, male and female elephants move together
with their children.

The correct statements are

(1)A,BandC
(2)B,CandD
(3)A and D only
(4) B and C only

2T F = |/ 17 =3 o w07 e fife
A. AT qET garAtE ZE F For ZefT seafeeE arTe
F7AT THF F9A 2 |

B. 72t 7% B &1 ATg F AT F T=9 FT A7 7T 200
e 2T 2

C. Trg FIFE A7 ITHT H AT agF TH= 2 |

D. gTPrt ¥ e &, v v @y gt A A=t F Ay
T

o o

Options:-

.1, Option ID :- 241,

. 2, Option ID :- 242,

. 3, Option ID :- 243,

. 4, Option ID :- 244,

Answer Given:- 4, Option ID : -244

Question ID:- 62
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The martial art form of Kerala considered highly scientific in practice is known as :
(1) Theyyam

(2) Mudiyettu
(3) Velakali

(4) Kalaripayattu

FI N TF A7 AATAT A7 FAT AT TATAT 2, IT FgA ¢

]

a)

3) AATHTAT
4) FATAZE

(

(2) ‘IE‘F’
(3)

( <5
Options:-

.1, Option D :- 245,

. 2, Option ID :- 246,

. 3, Option ID :- 247,

. 4, Option ID :- 248,

Answer Given:- 4, Option ID ; -248
Question ID:- 63

Which of the following substances would you be able to separate from water by straining with a
cloth ?

(1) Milk, Salt

(2) Salt, Sugar

(3) Turmeric Powder, Qil
(4) Chalk Powder, Sand

et & 7 FO9-7 TZ747 7 AT T T F92 F 3177 G977 JAT F7 AFA ¢

Options:-

.1, Option 1D :- 249,
. 2, Option ID :- 250,
. 3, Option ID :- 251,
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. 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

Which of the following groups is made up of the same common ingredient ?
(1) Dosa, Pulao, Kheer

(2) Chapati, Dal, Salad

(3) Halwa, Biryani, Jelly

(4) Pickle, Idli, Halwa

o ® 7 F\-A7 99 7F T IF F 7 F AT T amqT 2 2

Options:-

.1, Option ID :- 253,
+ 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 1, Option ID : -253

Question ID:- 65

If a farmer grows paddy crop over and over again in his field using excess of fertilizers and
pesticides, then this practice will make the soil of his field

(1) suitable for paddy crops only.
2) fertile for multiple crops in a year.

(
(3) fertile for crops of similar nature.
(4) barren.

~ =

T FT A AU AT H TAVET A7 FEATET F AT T 3TN F A
AT AT FT FHAA AT g, AT TH A0 H I A7 T g0

(1) =T a7 T FAAT F T IR 2T |

(2) TF TTA F FT FTAAL F 70 STATS 2T JOAT |
(3) THT W7 FX FAAT & TorT o ITATS; FT AT |
(4)
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.1, Option ID :- 257,

. 2, Option ID :- 258,

. 3, Option ID :- 259,

. 4, Option ID :- 260,

Answer Given:- 4, Option ID : -260
Question ID:- 66

The ‘mukul hasta’ Mudra, which is formed on joining all the finger tips denotes :

1) Determination

(

(2) Lotus flower
(3) Plucking flower
(

4) Firmness

Options:-

.1, Option 1D :- 261,

. 2, Option ID :- 262,

. 3, Option ID :- 263,

. 4, Option ID :- 264,

Answer Given:- 1, Option ID : -261
Question ID:- 67

What should a person diagnesed with anemia be advised to eat/drink ?
(1) Beetroot juice and Spinach

)
2) Pomegranate juice and Milk products
) Lemonade and Jelly

)

(
3
(

4) Cucumber and Tomato soup
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T BT EH TEFAREAT T TEEE gE 2, ST AT A A werg &

Options:-

.1, Option |D :- 265,

. 2, Option ID :- 266,

. 3, Option ID :- 267,

. 4, Option ID :- 268,

Answer Given:- 1, Option ID : -265

Question ID:- 68

To retain nutrients in the food, before eating one should make sure to
(1) wash fruits and vegetables after cutting them

(2) overcook the food

(3) wash rice and cereals in a lot of water

(

4) cook the rice or cereals in the water in which they are socaked

AT F TITH-A AT 73 F {0 J19 7 78 g5 A797 FIT F747
AT 2

(1) FeAT 37 TfET=T AT FT12 % ATF 47

(2) STTSA FT ATHF 37 7F THAT

(3) FATAA TAT FATHAT FT 27 ATIT TIAT F 14T

(4) FTAST FAT AFTAT T AT TN F 7197 5 H 38 fasmar 7r 2

Options:-

.1, Option ID :- 269,

. 2, Option ID :- 270,

. 3, Option ID :- 271,

. 4, Option ID :- 272,

Answer Given:- 1, Option ID : -269

Question ID:- 69
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A group of eatables rich in iron is
(1) Amla, Spinach, Jaggery

(2) Amla, Tomato, Jaggery

(3) Spinach, Cabbage, Tomato
(4) Amla, Cabbage, Jaggery

ATg-ATAT (A7) 7 T AT AT FTAZ 2

1) ST, TTAF, T2

(

(2) AT, ZATET, T2
(3) T, AT, ZHTZ?
(

4) AT, =AY, T

Options:-

.1, Option ID :- 273,

. 2, Option ID :- 274,

. 3, Option ID :- 275,

. 4, Option ID :- 276,

Answer Given:- 1, Option ID ; -273

Question ID:- 70

Birds lose their feathers at certain times. This process is called
(1) Hibernation

(2) Stridulation
)

(4) Shelling

Moulting

Tt fRfo=T THT 97 A o=t AT AT 39 2 | g GHAT FgArr
(1)3"3’“ (sfr=aTT)

(2) £ H(“" )
(3)
(

3) HIfaT (ATZAT)
4) st (fegae)

Options:-

.1, Option ID - 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 1, Option ID ; -277

fall g
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Question ID:- 71
Water is said to be scarce in an area if

(1) every household gets water for daily use.

(2) water comes to that area only via taps.

(3) water received is unsafe for drinking and cooking.
(4)

4) people can do washing and cleaning with the water received.

T o3 |/ 51 1 FH 0 T T0ATE FA

(1) 7Y =7 T TS F FAT T o ot e g
(2) S A= H TIAT FAA qAT 7 AATZ |
(
(

3) IS T ATAT TTHT UTel & AT T F ferm, e fen 2 |
4) T T I AT ST A TS AT AT T AFA
Options:-

.1, Option ID :- 281,

. 2, Option ID :- 282,

. 3, Option ID :- 283,

. 4, Option ID :- 284,

Answer Given:- 3, Option ID ; -283

Question ID:- 72

Torang in Kuduk language means the following :

1) forest produce
2) forest

(1)
(2)
(3) forest dwellers
(4)

4) barren forests

Options:-

.1, Option ID :- 285,
. 2, Option ID :- 286,
. 3, Option ID :- 287,
. 4, Option ID :- 288,
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Answer Given:- 3, Option ID : -287

Question ID:- 73

Your house is located at X and the milk shop is located at Y. There is no straight path from
your house to the milk shop. So, you first go to A which is 50 m due North of X, then goto B
which is 60 m due West of A, then go to C which is 50 m due North of B and finally you reach

the milk shop at Y which is 100 m due East of C. With respect to the milk shop, the direction of
your house is

(1) North-East

(2) North-West
(3) South-East
(4) South-West

ey 97 X 07 A g AT g N TR Y T FAA 2 qrE w7 /o A e
TH T F T FTT LT TTAT AE0 2 | AT TEA T A T 0T § 97 X F A
ST ASOMAATATE BT I AFIF I9T9H 60 m TTI7 2,
T CTAAEMBFAFIT-HS0 M TT T2 M7 d7d H AT Y 77 o H7
TF U7 TgAq 2 91 C F 3% T4 § 100 m 1 T4 77 ¢ | 39 T TH F 109
o a7 A R g

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,

Answer Given:- 1, Option ID : -289

Question ID:- 74

The soft part of the feather of birds on either side is known as
(1) Barb

(2) Rachis
(3) Quill
4)

4) Calamus
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Options:-

.1, Option 1D :- 293,

. 2, Option ID :- 294,

. 3, Option ID :- 295,

. 4, Option ID :- 296,

Answer Given:- 3, Option ID : -295

Question ID:- 75
A person with Malaria would have most common symptoms like

(1) fever with cough and cold
(2) diarrhoea and fever

(3) chills and fever

4)

4) blisters on skin with fever

HATIT 7 Y+ =A0F T ATHTAA: 7TAT 21T
(1) AT F AT AT T THH

(2) T A7 AT

(3) B AT AT TAT

(

4) ==T T7 FHIA TAT AT

Options:-

.1, Option ID :- 297,
. 2, Option ID :- 298,
. 3, Option ID :- 299,

« 4, Option 1D :- 300,
Answer Given:- 3, Option ID : -299

Subject : EVS_Q76-90_P1_CTET

Question ID:- 76
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Which of the following is the most important for students on a field trip for EVS teaching ?

(1) Setting goals of field trip

(2) Choosing means of travel

(3) Creating opportunities for discussion
(4)

4) Maintaining reflective journal

T wegas forar F o it v g 9w 1w 7 9\ F I
et ﬁﬁwnﬁf‘aﬁﬂmr T 2 ?

Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option 1D :- 304,
Answer Given:- 1, Option ID ; -301

Question ID:- 77

Indicate the correct sequence among four stages of organising an activity-based approach in
EVS.

(1) recapitulate the theme, extend support to each student, have a well-organised plan, create
a positive emironment

(2) extend support to each student, recapitulate the theme, create a positive environment,
have a well-organised plan

(3) create a positive environment, have a well-organised plan, extend support to each student,
recapitulate the theme

(4) have a well-organised plan, create a positive environment, extend support to each student,
recapitulate the theme
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TATATI AT § TF GREATT-arati 3URT T drifed 99 F A T

F R AT T2 FrferT |

(1) et e, gorF FEmft #T  a99E 19T, UF 99 THE AFea
AT, T FHRTITHE ATATAZ0T FT ST F7 A1

(2) g7 FF=meft #r 7w 347, B £ e, UF FF e TeEE  rAEe o w7

3) TF FFHRTITHF ATATAZI T A9 F9A4T, TF FAT TFHT7 ATATTSTT ATAAT, TAF
: 3| i

BT F1 A T, B i e

(4) T AT THTT ATAITHA ATHAT, T TETTIHT ATATAT FT ST F7AT, T

Options:-

.1, Option ID :- 305,
. 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78

During a visit to a park in the rainy season, it started raining and all students opened their
umbrellas.

Ria asked "Won't plants catch cold if they get wet in rain ?”

What should her teacher do ?

A. Tell students that plants can catch cold by viruses just like us.
B. Tell students that plants are not affected by viruses.

C. Ask students how they can protect plants from catching cold.
D. Ask all the students about what they think about Ria’'s question.

1)Aand B
2)BandC
3)CandD

(
(
(
(4)Aand D
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T A § TR THA F 219, AT o 21 w8 A wedt Bt § g

T 3

Fam = g, <tz o anter 7 fer I A7 P 39 7= TH A9 27

3HF ALATTH I FAT F7AT AT ?

A fa=nfaat & Fgar =1fen & 2w 777 et wr Famat 7 s o
TFAT 2 |

B. F=nfa=i 7 Fgar =i & ova et 7 garfaT 98 g 2

C. Tt # e R 7 ot A7 SphTe o 7 AR A= A E

D. 7rsft Pt & qemT = & 3 Far F qo7 F A |/ F=11 A=A 2

Options:-

.1, Option 1D :- 309,

. 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,

Answer Given:- 3, Option ID : -311

Question ID:- 79
Cooperative Learning approach in EVS is

(1) To enhance the value of individual activities in the groups
(2) To enhance the value of themes for group tasks
(3) To enhance the value of groups activities

(4) To enhance the value of teacher in the groups

TATATI AT § A AR AT SO 2

(1) THET | =T el F 919 7 g0
(2) wrafEe wrt % o et F a & 4
(3) 7HE F et F 719 | i3
(4) Tt 7 forers ¥ w7 713
Options:-
.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,
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. 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80

Riddhi chooses girls of class V for Rangoli making on Independence Day. The Principal asked
her to choose some boys also for this activity. The Principal is addressing which of the
following EVS curricular expectation at the primary level ?

(1) Creating an awareness about environment through varied experiences
(2) Developing process skills through interaction with environment

(3) Developing sensitivity towards natural, physical & human resources

(4

) Identifying issues concerned with equality, justice & human dignity

ol FAaAT 539 97 F9 el g979 & ™7 F97 V FT S0 57 999 F747 2
THTATSATTF 39 T WAt F foro e grs &1 O F99 F99 71 Fgq 2 |
TETHTESATTS TTITHF w7 77 Fefotaa § 7 FE-7 739w J?WW
HTAT FT FAGT 57 72 2 ?

':‘er /'\'Ll!t

(1) e sqaat F qrerw 7 9390 F AV H{ FEEFAT 3o oAl
(2) TEAST F ATT AATHAT F HIEAH F FHAT FAAT FT THFTH F9AT
(3) TTFfAT, G A7 7197 FATAAT % U3 AAzasfrar @AwHa 74T
(4) FTHTHAT, 7T FAT HIFGATT TAT 7 F4087 q21 1 7891 F7a7

Options:-

.1, Option ID :- 317,

« 2, Option ID :- 318,

« 3, Option ID :- 319,

. 4, Option ID :- 320,

Answer Given:- 1, Option ID : -317

Question ID:- 81

Creative expression in EVS

(1) is not feasible.

(2) is dependent on learners.
(3) is essential for innovation.
4

4) leads to waste of time.
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T AT § JAATHF ATa=T4
(1) ATT T |

(2) forearfamri o= a7 2

(

(

3) FATATE & [T A9 2 |

4) FHT ATZ F7AT 2

Options:-

.1, Option 1D :- 321,

. 2, Option ID :- 322,

. 3, Option ID :- 323,

. 4, Option ID :- 324,

Answer Given:- 3, Option ID : -323

Question ID:- 82

Method that allows learners to apply and practice what they have learnt :
(1) Questionnaire Method

(2) Observation Method

(3) Project Method

(4) Experiment Method

=

g THA ST At F1, |1 T HET , TR A7 AT FoA T ATH

Options:-

.1, Option D :- 325,

. 2, Option ID - 326,

. 3, Option ID :- 327,

. 4, Option ID :- 328,

Answer Given:- 4, Option ID : -328

Question ID:- 83

I
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“Learning is a continuous process.” In ‘learning’ of Environmental Studies which of the
following are most important ?

A. Interaction with teacher

B. Texthook & reading material

C. Experiences during learning

D. Interaction during activity

(1)A,BandC
(2)AandB
(3yBand C
(4)CandD

“tfreT T A g 2 gEtaew sy o § A F oo At T
H AT AATIAF AgeAL 2 2

A. foras T A=A

B. TTAITEAF A T59 ATHRAT

D. AT F 2T w7

(1)A, B @7 C

(2) A &7 B

(3)B &7 C

(4)C @7 D

Options:-

.1, Option |D :- 329,

. 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,

Answer Given:- 4, Option ID : -332

Question ID:- 84
Pedagogical approach for EVS teaching-learning should adopt
1) unknown to known approach
2) slightly unknown to slightly known approach
)
)

(
(
(3) known to unknown approach
(

4) slightly known to slightly unknown approach
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AT Fera F foram-afie F At 3w #1 aftnrem weer e

Options:-

.1, Option 1D :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

. 4, Option ID :- 336,

Answer Given:- 3, Option ID : -335

Question ID:- 85

Which of following assessment tools will be most suitable for school-based assessment in EVS
?

A. Paper-and-pencil test
B. Group work

C. Performance test

D. Project work
(1)AandC
(2)BandD
(3Aand B
(4)CandD

T Ferad A § FEmem-arata e 2q et § 1 e
AFAT ITHFI TATIAF STLFT 21T 2

A T HY T T

B. #Hg T4

C. famarza ofam

D. Tt F1

Options:-
.1, Option ID :- 337,
« 2, Option ID :- 338,

Scan with Fast Scan


https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader
https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader

. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 2, Option ID ; -338

Question ID:- 86

The role of an EVS teacher is best described as

1) Provider of knowledge

)
2) Giver of knowledge
3) Facilitator of knowledge
)

(
(
(
(

4) Creator of knowledge

Tt e F foraE A gt mAmw s d agm T
1) ST F I31ET & =T F
2) ST & =TTAT & =T

3) I F qHFAT & =T H

(
(
(
(4) TH F AT F =T |
Options:-

.1, Option ID :- 341,

. 2, Option ID :- 342,

. 3, Option ID :- 343,

. 4, Option ID :- 344,

Answer Given:- 4, Option ID : -344

Question ID:- 87

Which of the following components must essentially be incorporated while structuring the EVS
curriculum ?

A. An explanation of major concepts with examples

B. Questions related to natural curiosity of children
C. Connecting knowledge with life of children
D. Incorporation of cultural-social diversity
E. Activities and resources related with major concepts
(1)A,BandC
(2)B,CandD
(3)A,CandE
(4)A,DandE
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FA AHA AF9TF =T F a7 Fa71 F1igmw 2

A. TITEION ATZT THAE HTAAT H1 AT
B. F=A1 it TaATaTiAT St 7 "AAfaT woe
C. S FT F=31 F A+ T JrEAT

D. AFIAF-ATHT S FATIeTAT 77 F97139T
(1)A, B %7 C

(2)B, C %7 D

(3)A, C 37 E

(4)A D #7E
Options:-

.1, Option ID :- 345,

. 2, Option ID - 346,

. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Tools that can be used for observation include

(1) Anecdotal Record
(2) Blackboard

(3) Worksheets

(4) Textbook

ATIF ST T F o worew o Wy 7 g At A2

Options:-

.1, Option 1D :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

. 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

freaforfaa & & F9-7 921 7 JAETE9T, TIA0 FeTIT TEFE FT A9
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Question ID:- 89

Anaya observed ants carrying a dead centipede. On this basis she concluded that ants are
very powerful and even if they are small, they can carry bigger animals.
Which of the following EVS process skills are involved by Anaya in making this generalization ?

A.  Observation

Prediction

C. Estimation

D. Experimentation

E

Inference
(HA,BandC
(2)C,DandE
(3yB,CandD
(4)A, CandE

AATAT =TT T TF 7Y g0 FAGq? 1 o S g0 24T | T AT 97 37 T
e e T Fifeat aga aaar gl g 37 er g 77 ff T 78 FHa s
FT A AT TAFATE |
T ATATAFI0 A% Tga9 § FATAT ZT e reaaa Taa70 ALIa+ % qiHar
FI9AT § 7 B Frerat 1 atentoT Far g 2

A. FFAATHA

B. @ity

mo o

(1)A, B &7 C

(2)C,D A7 E

(3)B,C#TD

(4)A CHTE

Options:-

.1, Option ID :- 353,
. 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90
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Which of the following is the best description of the nature of school-based assessment ?

(1) Quantitative assessment
(2) Prescriptive assessment
(3) Descriptive assessment
(4)

4) Constructive assessment

feaforfaa & 7 FE-HT Fere-arata arFas £ 75 7 9398 AT 2

1) IHETTHF ATFAA

(1)
(2) Pz arFaa
(3) AT AFAT
(4)

4) TFATHE ATHAA

Options:-

.1, Option ID :- 357,
. 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : HIN_Q91-99_L1_P1_CTET

Question ID:- 121

Scan with Fast Scan


https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader
https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader

fRder : f=fefaa =T F7 TZFT [F AT FAT F AG/ATE TG AT AT
fa=reT F1 Fi917 |

THAT & 9Tl H TZA g AT AT T F qA FA=T KT AT AT 457 T | TAH]
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
T & s ST T T A 3 1 g s e e e 2, o
TH GSAT 2 | A7 AZ THT GSAT F2 F7 3 T Sa9 THTH 21 ST | T AT 97
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
T ATHZ FHF FT AT 0T q947 2 | T 917 397 17 AT qAEq H 7T
7 A AT F24 2 6 7 7 T A2 A 78 2 | Tl F957 F87 877 7T 7
FI0 | AASATAT FT HATT F77 |

TR H T HHT FZTTATE
(1) ATF-AAT ST
(2) T F IA
(3) T F A
(4) TETET F 7
Options:-

.1, Option ID :- 481,

. 2, Option ID :- 482,

+ 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122
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fRder : f=fefaa =T F7 TZFT [F AT FAT F AG/ATE TG AT AT
fa=reT F1 Fi917 |

THAT & 9Tl H TZA g AT AT T F qA FA=T KT AT AT 457 T | TAH]
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
T & s ST T T A 3 1 g s e e e 2, o
TH GSAT 2 | A7 AZ THT GSAT F2 F7 3 T Sa9 THTH 21 ST | T AT 97
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
T ATHZ FHF FT AT 0T q947 2 | T 917 397 17 AT qAEq H 7T
7 FFT HIAT F24 2 T 9 F TRUT A2 Sg 72 2 | THT F9%7 799 997 71 7
FI0 | TASAAT FT HATT F77 |

TETE 37 AT e aA T A g 2

Options:-

.1, Option ID :- 485,

. 2, Option ID :- 486,

. 3, Option ID :- 487,

. 4, Option ID :- 488,

Answer Given:- 2, Option ID : -486

Question ID:- 123
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fAder : fAafafaa T #7727 05 77 T91 % Tg/4F% 373 307 J7
fa=reT F1 Fi917 |

TEAT ST g7t H TEA g AT A T F A FAET A AT AT A3T | T
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
21T g & geEy AT ot 1 3T g Ag vF v gy 97 A w7 g, e
T g FT fRTeT 1 A E ST T A AT F 0, S AT I R
TH GSAT 2 | T ﬁﬁ%ﬁTﬁF?ﬂGﬁﬁWamla—gmaﬁ
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
FATHRL FHZ AT AT ATT G447 2 | T a7 97 S AT A5 {7
A A9 A1 Fgd g 6 = 7 TR 12 A1g 72 | TH 97 TH 477 FTAF
F0 | TAS AT FT TF F4T |

T T ATATT A T

P

1) ST ¥ HgAT THAAT AT |

(

(2) 7HF T qZAT AHAAT AR |
(3) ATEAT T F7AA | TTHAT AT |
(

4) A7 AT TZTET T2 TAAT AT(S0 |

Options:-

.1, Option ID :- 489,

. 2, Option ID :- 490,

. 3, Option ID :- 491,

. 4, Option ID :- 492,

Answer Given:- 1, Option ID : -489

Question ID:- 124
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fRder : f=fefaa =T F7 TZFT [F AT FAT F AG/ATE TG AT AT
fa=reT F1 Fi917 |

THAT & 9Tl H TZA g AT AT T F qA FA=T KT AT AT 457 T | TAH]
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
T & s ST T T A 3 1 g s e e e 2, o
TH GSAT 2 | A7 AZ THT GSAT F2 F7 3 T Sa9 THTH 21 ST | T AT 97
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
T ATHZ FHF FT AT 0T q947 2 | T 917 397 17 AT qAEq H 7T
T I HIET ¥4 2 T Fa F TRUT A2 g 72 2 | Tl F9%7 799 997 71 7
F0 | AAA AT FT FATT F770 |

CELE AT F =T F TTAATZ |

Options:-

.1, Option ID :- 493,

. 2, Option ID :- 494,

. 3, Option ID :- 495,

. 4, Option ID :- 496,

Answer Given:- 4, Option ID : -496

Question ID:- 125
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fRder : f=fefaa =T F7 TZFT [F AT FAT F AG/ATE TG AT AT
fa=reT F1 Fi917 |

THAT & 9Tl H TZA g AT AT T F qA FA=T KT AT AT 457 T | TAH]
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
T & s ST T T A 3 1 g s e e e 2, o
TH GSAT 2 | A7 AZ THT GSAT F2 F7 3 T Sa9 THTH 21 ST | T AT 97
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
T ATHZ FHF FT AT 0T q947 2 | T 917 397 17 AT qAEq H 7T
A F9 AIET Fg4 2 TF T T TR AR A T 2 | TN ATET A7 497 FTAH
F0 | AAA AT FT HAT F70 |

syt AT sER AT

Options:-

.1, Option ID :- 497,

. 2, Option ID :- 498,

. 3, Option ID :- 499,

. 4, Option ID :- 500,

Answer Given:- 4, Option ID : -500

Question ID:- 126
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fRder : f=fefaa =T F7 TZFT [F AT FAT F AG/ATE TG AT AT
fa=reT F1 Fi917 |

THAT & 9Tl H TZA g AT AT T F qA FA=T KT AT AT 457 T | TAH]
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
T & s ST T T A 3 1 g s e e e 2, o
TH GSAT 2 | A7 AZ THT GSAT F2 F7 3 T Sa9 THTH 21 ST | T AT 97
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
T ATHZ FHF FT AT 0T q947 2 | T 917 397 17 AT qAEq H 7T
A 9 AHT Fg4 2 TF T T TR AR A T 2 | T ATET A7 497 FT AR
F0 | AAA AT FT HATT F970 |

TIAT & ATTFHTT A7 H

Al

Options:-

.1, Option ID :- 501,

. 2, Option ID :- 502,

. 3, Option ID :- 503,

. 4, Option ID :- 504,

Answer Given:- 3, Option ID : -503

Question ID:- 127
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fAder ; fAefofa T=rer 1 92797 T5 7 497 F Jg/799 T 397 7
T &7 orgTT H TEA g0 A AT T F OHA TR FT AT GAT T3T | THA
AET AFTH AT A FFAT T TF Ag AT AT TAHAT ATAT A7 FFBA OO FTE A7
TTHT ST AT, TR FT AAT == | T Tl A IHE AT A T I
2T g & se 3T o A 3Fa 2 1 3 vF v ag 17 A wear g, e
7 O FT ANATH & | FHZ 31 AT TIAT K0 ATE F7h, IART A9 T2 F9h

TH ASAT 2 | AT A TN AT #7 F7 3 AT SHAT AHATH 21 ST | A AT dF
FHTT TS0 7 7T | AT A g B g () 7 v A s e
AT | FHA 7 AT AFaar & 7 T97 F =7 F T a7AT 07 F79A7 g | qF A TAT
T ATHT THF FT AIAT Q1T T9447 2 | T2 917 3097 v A7 7139 § g9
TETEN AT T ST T%F HIAAIA Tg=71 g AT 721 T 3T T 527 F0A71 2 | T21E
drv A /AT Fgd 8 OF Fa 7 TRV A2 Ag 72 ¢ | TH I T9 497 FT 5
F0 | AT FT HFTT F77 |

AT T AT 7 7 AT 21 TET FAT Fgl AT E 2

(1 5 S gt I
K2 T A R
(

(

3) 9917 T FATH & oI a7+ AT |
4) AT 97 ATEFTT AT FAHT 7 |

Options:-

.1, Option ID :- 505,

. 2, Option ID :- 506,

. 3, Option ID :- 507,

. 4, Option ID :- 508,

Answer Given:- 4, Option ID : -508

Question ID:- 128
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fAder ; fAefofa T=rer 1 92797 T5 7 497 F Jg/799 T 397 7
T &7 orgTT H TEA g0 A AT T F OHA TR FT AT GAT T3T | THA
AET AFTH AT A FFAT T TF Ag AT AT TAHAT ATAT A7 FFBA OO FTE A7
TTHT 2 9T, THT T g9 AT a9 Tt a1 30E A1 98 79T TSN
2T g & se 3T o A 3Fa 2 1 3 vF v ag 17 A wear g, e
7 O FT ANATH & | FHZ 31 AT TIAT K0 ATE F7h, IART A9 T2 F9h

TH G9AT 2 | F7 A T FoAT 57 F7 % A7 SA1A9 AHTH 21 ST | A ATy ff
FHTT TS0 7 7T | AT A g B g () 7 v A s e
T | A g7 J17 FFaar g &7 97 F =7 § T 9747 77 F7947 ¢ | T F1 T0A T
H ATFT FHF FT ATAT GTT T947 g | 20 a1 307 AR AT A=A § 3
TETEN AT I S{TAT T%F HITAEA Tg=A71 2 AT 721 T 3TF T g7 F0471 2 | TZ1E
A7 FT qIET F24 2 T4 54 F TR A2 A2 72 2 | THT F957 79 997 71 7
FIT | TASET FT AFT F77 |

T A few == g

Options:-

.1, Option ID :- 509,

. 2, Option ID :- 510,

+ 3, Option ID :- 511,

. 4, Option ID :- 512,

Answer Given:- 2, Option ID : -510

Question ID:- 129
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fRder : f=fefaa =T F7 TZFT [F AT FAT F AG/ATE TG AT AT
fa=reT F1 Fi917 |

THAT & 9Tl H TZA g AT AT T F qA FA=T KT AT AT 457 T | TAH]
TTHT BT O, TR FT AT 31T | 79 Tgel a1 3HE AT T AT IAET
T & s ST T T A 3 1 g s e e e 2, o
TH GSAT 2 | A7 AZ THT GSAT F2 F7 3 T Sa9 THTH 21 ST | T AT 97
FHTT AT 7 7T | AT A & B g (7o) £ A1 s e
T | FHA 27 AT Fear 2 7 a7 F =7 F T G7AT 77 F7947 2 | qF AT TIAT
T ATHZ FHF FT AT 0T q947 2 | T 917 397 17 AT qAEq H 7T
AT FFT HIAT F24 2 T 9 F TROT AW S8 72 2 | THT F9%7 79 997 71 7
FI0 | AASATAT FT HATT F77 |

1) =T F12 A7 7 20

3) e #8 T A 2r

(
(2) et F1E ®q-TT T 2T
(
(

4) fowT #rg affFaa T 3r

Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
+ 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Subject : HIN_Q100-105_L1_P1_CTET

Question ID:- 130
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R : fA=farfae Fr=71er #1 T2%7 76 7 T4T F T2/750 T
T FT FI917 |

T T T, T Fer ATET F 3,

FE-AT TEAT &7 ATV ¥ 3T T7 T3,
m-mm—rﬁwwﬁme|

AT 7g TR T ATAT £ 2 FA-3,
ﬁﬁ@ﬁ"ﬂﬁﬂ%‘dﬁﬂ"’fﬁﬁwl

2 ZEATAT § A= Fed T HIAA |

(1) =1
(2) =T
(3) &
(4) 2

Options:-

.1, Option ID - 517,

. 2, Option ID :- 518,

. 3, Option ID :- 519,

. 4, Option ID :- 520,

Answer Given:- 2, Option ID ; -518

Question ID:- 131

Shk

T

Scan with Fast Scan


https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader
https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader

fRder ; fAeforfaT #1779 F7 72%7 75 7 T4 F T/795 ITIF I A7
T FT FI917 |

9T T T, e T ATET & 2,

TET-AE TEAT AT7 AT FT 3T T7 T3,

I AT 7 HF H A 3 AAAT |

AT 7 T 21 ATAT 3 § FA-3,

FA-A 7 A Rt o 7 feae

2 ZATAT § A= T AT HIAA |

FAAT § Jrf 7 qT7TT 2

(1) ATFor
(2) ATATT
(3) @
(4) 5@

Options:-

.1, Option ID :- 521,

. 2, Option ID :- 522,

. 3, Option ID :- 523,

. 4, Option ID :- 524,

Answer Given:- 1, Option ID : -521

Question ID:- 132
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fAder ; feforfag F1=1rer #7 92F7 T 7 T F AE/AaH TUT
T FT FI917 |

Tt T 7, T FeT ATET 2,

FE-AT TEAT &7 ATV ¥ 3T T7 T3,
m-mm—rﬁwwﬁme|

AT 72 TR 21 ATAT T 3 F4-3,

ﬁw@ﬁvﬁw%ﬂﬁwqﬁﬁ—m
2 ZATAT § A= e A HIAA |
Wﬁuﬁﬁ@ﬁﬂ#ﬁﬁmé?
(1) 7 e
(2)=|Tﬁ1-r:|—-rrlri¢

ORIERIERICE:

(4) AT T #

Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
. 3, Option ID :- 527,
. 4, Option ID :- 528,
Answer Given:- 4, Option ID ; -528

Question ID:- 133
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fAder : fAEfofaT #1271 #T 9277 767 7 T4 F T2/7G89 97 397 77
AT #1 AT |

T A 7, T T ATET F 3,

AAT-AAT AT 2 AT F7 AT |

FE-AE T2AT 977 AT FF 39 77 =597,

TA-ZT ATAL F7 qF H A 43 TAATA |

THA-A 7 A\ Barr 97 7 Az |

T | FEAer g T AT agte

Options:-

.1, Option ID :- 529,

. 2, Option ID :- 530,

. 3, Option ID :- 531,

. 4, Option ID :- 532,

Answer Given:- 3, Option ID : -531

Question ID:- 134
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fRder : A=t #1719 7 2% 75 77 T4 ¥ ag/AEE 0 39 A
AT #1 AT |

AAT-AAT AT 2 AT F7 AT |

FE-AE T2AT 977 AT FF 39 77 =597,

m_mmﬁwwﬁmaﬁamﬂ|

T 7g TR g1 ATAT T T FA-347,

qqqqﬁTFﬁ'ﬂrﬁTFﬁT?WW'

TR A AT T T AT 2

1) TAT FAATHIN F7 T F

nw

SREIFCERICE kTN

(1)

Q)T T T AT AT TZE
(3)

(4) wﬁa—«r'ﬁmﬁmﬂ'rr”—-ﬂ 1
Options:-

.1, Option ID :- 533,

. 2, Option ID :- 534,

. 3, Option ID :- 535,

. 4, Option ID :- 536,

Answer Given:- 3, Option ID ; -535

Question ID:- 135
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fRer : fAefafaT 779 #F7 9277 T T07 497 7 TZ/7a9 399 397 7
e T F197

T T 7, el el ATET F 3,

. s N B~ b & 2 =

AHT-ALT AT g ATE Fv A |

qE-AE TEAT 477 A7 F7 39 77 597,

ZTA-ZT FATAL F7 HF T FA 43 TAAAA |

FH-IH W A QAT T e
g 7 o s g

(1) 98-

(2) 7T-=F

(3) FF-TTH

(4) FT-TT

Options:-

.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Subject : HIN_Q106-120_L1_P1_CTET
Question ID:- 136

AT TR0 F AT AT H ATAT ST ATAT AT 377 7397 F THT 9097 H A1eAT S0
T R afw i e ar A =T I AT ST € 2

(N & frarfert 1

(2) 7 e a2

(3) 7 T2 7 = FTAT 7 T AT 2 |

(4) T & AT AT | AT Gt w7 3 9 A

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option D :- 544,
Answer Given:- 2, Option ID : -542
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Question 1D:- 137

Frerforfea 5 & Fra-a7 a7 afem F F=30 7 7g agie ?

(1) TTOT T AT SZ9TT T F H1e7s 7 A 2 21
(2) FTERT & ATAAA, o=, 9 39T A7 AR 247 9T ¢ |
(

(

3) wfamT T T STt i et A A ae Ee e

4) qTIT FT TART FAATHF HAFTH § AWEE F47 2 37 205 o g@-aafaq
21
Options:-

.1, Option ID :- 545,

. 2, Option ID :- 546,

. 3, Option ID :- 547,

. 4, Option ID :- 548,

Answer Given:- 2, Option ID : -546
Question ID:- 138

refortaa & 7 B 9raTet #7977 F AVHRE ST TR 997 F =7 { JIerAT 3

=7

A

1) HEFA, 8, TET, FAE, HAATAR A7 I

)

)i(\!.-éi, Zum_ FAE, HAATAH, H-*Td v 3
) .
)

4) oA, AT, T, T, AAATAT A7 (24T

Options:-

.1, Option ID :- 549,

. 2, Option ID :- 550,

. 3, Option ID :- 551,

. 4, Option ID :- 552,

Answer Given:- 3, Option ID : -551

Question ID:- 139
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foraT & ArgaTaT At A agaTiEAr 7T 94 2 2

(1) Foreardt srreft wTgaTaT § FAEmerft forar e 97 € o F9-5T a0 azq

(2) ForeamefT erer w74l P ATy ST TR § S an S S Jer
FaET g

(3) forar=ft |TgaTIT TF qT F = § HyEa § 6 FEred § S99 ann azq
2, FUSH HIEAT § A9009 F77 ¢ |

(4) TorearefT =ear 7 7 FY A1 A g A FETT F AvAtHE 1 " A
ATOT FTEAT T ST ATETT ATH1A 2 |

Options:-

.1, Option ID :- 553,

. 2, Option ID :- 554,

. 3, Option ID :- 555,

. 4, Option ID :- 556,

Answer Given:- 1, Option ID : -553

Question ID:- 140

el forar § agararars 5 o | 0F q9q1eT 2 2

(1) Sgt 7% F97 21, A= 7 afers qrarar 1 foregmr
(2) A=At qror forear 17 v =

(3) FeAT # forantfaay Fr qraver F:1 wAnT

(4) F=a1 | = forggor A7 FAf4 F =7 § a7

Options:-

.1, Option ID :- 557,

. 2, Option ID :- 558,

. 3, Option ID :- 559,

. 4, Option ID :- 560,

Answer Given:- 3, Option ID : -559

Question ID:- 141

STH FTT ATIHT A2 AT H1FAT g, Ag 39 ATAT FT 1A F A% AN F (o7 £
THA AT g | T AATT A T =7 F [0 JUAv 2

Scan with Fast Scan


https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader
https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader

Options:-

.1, Option ID :- 561,

. 2, Option ID :- 562,

. 3, Option ID :- 563,

. 4, Option ID :- 564,

Answer Given:- 3, Option ID : -563
Question ID:- 142

TE AEATTR AT F T AT g AT oAl o O e d e ety A

TFTOT FZATAT 2 | 9T5&1 F T AT T T3 &7 AT J1A7 2 2
(1) TATTHF T2

(2) ATATF T2

(3) Torefrr =it

(4) FAo sTE

Options:-

.1, Option ID :- 565,
. 2, Option ID :- 566,
+ 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143

AT £, 77 27 FIAT 51 9247 £ | 39 T F T5 A0 FAT F2T AAT 2 2

Options:-

.1, Option ID :- 569,

« 2, Option ID :- 570,

. 3, Option ID :- 571,

. 4, Option ID :- 572,

Answer Given:- 3, Option ID : -571

Question ID:- 144
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et 5 & F3-91 ‘9 T v FeTar w7 AT ag@i Fwvar g ?
(1) == Bt o aug o 71

(2) forarfaart =v fafaweT ¥ s (ara=ia) T2 F7A7

(3) FHZ F1F, STET | F14 317 AqAT F4T { 7% AT FT

(4) ALATTF ZT7T ZATE A7 ’WW

Options:-

.1, Option 1D :- 573,

. 2, Option ID :- 574,

. 3, Option ID :- 575,

. 4, Option ID :- 576,

Answer Given:- 4, Option ID : -576

Question ID:- 145

fraforfaa & 7 Fr=-a7 forarfaan 5 o2 A 79 71 3297 agis 2
(1) TTEETRIT T 92T g0 I9H 7 ARy ZEAr

(2) TTEHTHIT FT A9 T ATTAT T FI2AT
(3)
(4)

3) 9T=aT ¥ 95 AT F o THAAT

4) FLATTF ZT7T H{7 T ATAFT T2 F A2 IH 2200

Options:-

.1, Option ID :- 577,

« 2, Option ID :- 578,

. 3, Option ID :- 579,

. 4, Option ID :- 580,

Answer Given:- 1, Option ID : -577
Question ID:- 146

ATEAT, FAT 6 T T ATHT T I I FATH 00 qA4T70 FAfora arsr v
TEATH FTAT TRT E | g WA AR F1 A 7 AT T AYATH FIAT L2
v AT § A7 AT F WA AT 39T FT T TAT 2| T AT A1 T T80

Options:-
.1, Option ID :- 581,
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. 2, Option ID :- 582,
. 3, Option ID :- 583,
« 4, Option ID :- 584,
Answer Given:- 4, Option ID ; -584

Question ID:- 147

TF FEATTH FT TF TFAS AT HT AT 3T A F O3 ST
IUTT ATAE F qATCH AT | AT AT 747 F AT #7147 5177 7257 7 srszradt

Options:-

.1, Option ID :- 585,

. 2, Option ID :- 586,

. 3, Option ID :- 587,

. 4, Option ID :- 588,

Answer Given:- 3, Option ID ; -587
Question ID:- 148

TR SEATTE 7 FAT AT F ARt fv w2y % ¥ 99y wqree 7 Ay w7
AT Fv SR AAT A0 97 AT AF-TTE AT A S AT T e, AT
o=t & ATy 39 97 F97 F7 d B A5 F | o0 F A T FgT I 2

(1) AT

(2) 7= T

(3) THTTSTAT F

(4) FTTier fosrer =+ form 1
Options:-

.1, Option 1D :- 589,
. 2, Option ID :- 590,
. 3, Option ID - 591,
. 4, Option ID :- 592,
Answer Given:- 3, Option ID ; -591

Question ID:- 149
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frerferfera % & B TEwIforT S F:29 2
(1) forarrfaan & fAfes afimmm w1 7o 7 F=tE 7347 o9 39 999
(2) foreamm afemTe & form 07 7 97 F F9 gerE forearft F FErE w1 g

(3) forearfaat 1 F=ATe TTATAT FT ITF AT ATFAT 2 TTAN
(4) T AT SHro=TVF THATA 7T e

Options:-

.1, Option |D :- 593,

. 2, Option ID :- 594,

. 3, Option ID :- 595,

. 4, Option ID :- 596,

Answer Given:- 2, Option ID : -594

Question ID:- 150
Frrforfas & 71 F=-AT wrRAE g F RS g AaEr e 2

=~

1) ATHTAF AT H7 ZATHI0 A7 3 |

-~ =

(
(2) FTHAT GTOT H =ATH0T TE1 211 ¢ |
(
(

=
)

3) ATFH AT TOT ZTA-9T4 FT 792 2 |
4) 77 FAea & mF &1 g A AvHiaE g

Options:-

.1, Option ID :- 597,
. 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID - 600,
Answer Given:- 3, Option ID : -599

Subject : Sanskrit_Q121-128_L2_P1_CTET

Question ID:- 751
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“TRTET FAPT | FTAHAA REEE PIEAEE 1T @0 79T U AT
G FOFATESTA TEOA g F ST A
AT FaaT e - 93 | fearemar qeamE a9 AR
TET | AT AT (e A TR OIS AT T AT

THAFCT 75T ATTE TTATHIA | ATOATSTT SHFAAT F97F q7Aaa T TaTa e
A AIMTHAHRT 7 &7 T | AR A7 397 I5a7g AL Ter AT
T fremmm | 92T | T J99 99 A=A AT 790 ArteaT=gar A
AOEATEAT  TEAEATHT 1 @ ey TSAn ARSI AT

MEAETI ST (Bed  gaa~avdag] A7 [earaFar #g aaiasorears S
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TAZATEA 50T I 999 A9 Faam | i afei@y aen 5 - v
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TEFHIRAATAT T a9 | @0 F TOgA IAT TH AT S - g !
FTATTZH AT T AFATA

1) FrererT: f: aqt

Options:-

.1, Option ID :- 3001,

. 2, Option ID :- 3002,

. 3, Option ID :- 3003,

. 4, Option 1D :- 3004,

Answer Given:- 2, Option ID : -3002
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fR&er: : srenfataa wensr 7T FITEATAAT AT AT T SAATHH
g7 49T 1

“TRTET FAPT | FTAHAA REEE PIEAEE 1T @0 79T U AT
G FOFATESTA TEOA g F ST A
AT FaaT e - 93 | fearemar qeamE a9 AR
TET | AT AT (e A TR OIS AT T AT

THAFCT 75T ATTE TTATHIA | ATOATSTT SHFAAT F97F q7Aaa T TaTa e
A AIMTHAHRT 7 &7 T | AR A7 397 I5a7g AL Ter AT
T fremmm | 92T | T J99 99 A=A AT 790 ArteaT=gar A
AOEATEAT  TEAEATHT 1 @ ey TSAn ARSI AT

MEAETI ST (Bed  gaa~avdag] A7 [earaFar #g aaiasorears S
TAEME T — A WA AR | #AAq ATads d@oerd fAer
TAZATEA 50T I 999 A9 Faam | i afel@y aen 5 - v

AT | B =T qrAt FRET | e nstaay:, 39 F=a  ae:
T4, AT FFg qa=Eiag | 99 FEAEe A0 27 | AreArnsty
TEPHIEAATaT T 99T | 7 7 TO0gd T=241 7 797 59 — 20 |
& 9f3: =r=eere F: arf 2

Options:-

.1, Option ID :- 3005,

. 2, Option ID :- 3006,

. 3, Option ID :- 3007,

. 4, Option 1D :- 3008,

Answer Given:- 3, Option ID : -3007
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fRder: : sreffafae TETer TEAAT FRTETCATIAT (AFATHF T STHAT7
7 AT

“FREETT FAS | FOHAA AEas SRTAAer |7 # 7VT vA A
qFT FOAGTETEEA TAOA: YT F FEEHedT ZT RO
IEIER RIEE T s E e 10 | A a1 - e G D E R e D C R e e T D)
TETR" | AT AT R AT AT T AT TR
TR 760 JTHHA TTATHTA | ATOATS IFFAAT THE 7HAAFT FaTA 2
AT TE(GHIAT 7 &7 T | TARAAA? A7 327 I5ATg (AL Feam AT
et ™ | “FgT | a7 A" 79 TEAT AT AT, 790 ATieT=gar At |
AATAEAT  TETIATT 1 @ @Y TIEeAn. AEEIeT 7 ATA
TRETET SIS (570 FEaaag] 947 fEaaTasar A g s Jrar
AN TA: - UAT] WA AR | AAA ATOA| A e
HrragazafEee 777 17 7599 79 Frany | =3 afefzs aer 31 -
ATroe | Bt =T qet =tEr | e st 39 Fag e
74, AT S a=hAag | 79 FAaEeT qaoerds 20 | AraArnstT
TETHEAadaT F 99T | 97 & qOfgd 3741 9 79T 59 -

Atz Ao B 97717 ?
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Options:-

.1, Option 1D :- 3009,

. 2, Option ID :- 3010,

. 3, Option ID :- 3011,

. 4, Option ID :- 3012,

Answer Given:- 3, Option ID : -3011
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fRder: : sreffafae TETer TEAAT FRTETCATIAT (AFATHF T STHAT7
7 AT

“FREETT FAS | FOHAA AEas SRTAAer |7 # 7VT vA A
qFT FOAGTETEEA TAOA: YT F FEEHedT ZT RO
IEIER RIEE T s E e 10 | A a1 - e G D E R e D C R e e T D)
TETR" | AT AT R AT AT T AT TR
TR 760 JTHHA TTATHTA | ATOATS IFFAAT THE 7HAAFT FaTA 2
AT TE(GHIAT 7 &7 T | TARAAA? A7 327 I5ATg (AL Feam AT
et ™ | “FgT | a7 A" 79 TEAT AT AT, 790 ATieT=gar At |
AATAEAT  TETIATT 1 @ @Y TIEeAn. AEEIeT 7 ATA
TRETET SIS (570 FEaaag] 947 fEaaTasar A g s Jrar
AN TA: - UAT] WA AR | AAA ATOA| A e
A AAAEAZa 7797 77 Touq 79 Ay | = afelZy oo 5T -
Arroe | Bt =T qret =tEr | e st 39 Fag e
74, AT S a=hAag | 79 FAamer aoerds 20 | AraArnstT
TETHEAada 7 99TF | 97 7 qOfgd 3741 9 79T 59 -
T A ?

1) TISTLZAT: AITTA TEaa: TEEAT ARIAF0T A qae
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(2) TTSLFT: AT EAA:
(3) TTSIFAT: FHTEF AT TATTEAA;
(4) TTSTTZIT: ATHA T 97 TR0

Options:-

.1, Option ID :- 3013,

« 2, Option ID :- 3014,

. 3, Option ID :- 3015,

. 4, Option 1D :- 3016,
Answer Given:- 1, Option ID : -3013
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fRder: : sreffafae TETer TEAAT FRTETCATIAT (AFATHF T STHAT7
7 AT

“FREETT FAS | FOHAA AEas SRTAAer |7 # 7VT vA A
qFT FOAGTETEEA TAOA: YT F FEEHedT ZT RO
IEIER RIEE T s E e 10 | A a1 - e G D E R e D C R e e T D)
TETR" | AT AT R AT AT T AT TR
TR 760 JTHHA TTATHTA | ATOATS IFFAAT THE 7HAAFT FaTA 2
AT TE(GHIAT 7 &7 T | TARAAA? A7 327 I5ATg (AL Feam AT
et ™ | “FgT | a7 A" 79 TEAT AT AT, 790 ATieT=gar At |
AATAEAT  TETIATT 1 @ @Y TIEeAn. AEEIeT 7 ATA
TRETET SIS (570 FEaaag] 947 fEaaTasar A g s Jrar
AN A — UAr] FA AR | AR AiOA| AT e
A AT Ea 75797 77 oaq 79 A | = @@y o 5T -
Arroe | Bt =T qret =tEr | e st 3  Fag e
74, AT S a=hAag | 99 FAameT aoerds 20 | ariaArnstT
TETHEAada 7 99T | 97 7 qofgd 3741 9 79T 59 -

T AT | FE =T STt ST 2 UAT eR F AgA 2

Options:-

.1, Option ID :- 3017,

. 2, Option ID :- 3018,

. 3, Option ID :- 3019,

. 4, Option 1D :- 3020,

Answer Given:- 2, Option |ID : -3018
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fRder: : sreffafae TETer TEAAT FRTETCATIAT (AFATHF T STHAT7
7 AT

“FREETT FAS | FOHAA AEas SRTAAer |7 # 7VT vA A
qFT FOAGTETEEA TAOA: YT F FEEHedT ZT RO
IEIER RIEE T s E e 10 | A a1 - e G D E R e D C R e e T D)
TETR" | AT AT R AT AT T AT TR
TR 760 JTHHA TTATHTA | ATOATS IFFAAT THE 7HAAFT FaTA 2
AT TE(GHIAT 7 &7 T | TARAAA? A7 327 I5ATg (AL Feam AT
et ™ | “FgT | a7 A" 79 TEAT AT AT, 790 ATieT=gar At |
AATAEAT  TETIATT 1 @ @Y TIEeAn. AEEIeT 7 ATA
TRETET SIS (570 FEaaag] 947 fEaaTasar A g s Jrar
AN T - UAT] WA AR | AAA AqTOA| d@ee e
A AAAEaZa 7797 77 ouq 79 Ay | = @@y oo 57 -
ATroe | Bt =T qret =tEr | e et 39 Fag e
74, AT S a=hAag | 79 FAamer qaoerds 20 | ariaArnstT
TETHEAada 7 99T | 97 7 qOfgd 3741 9 79T 59 -
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(2) FTHTA:
(3) A=A
(4) fe=fam:
Options:-

.1, Option ID :- 3021,
« 2, Option ID :- 3022,
. 3, Option ID :- 3023,

. 4, Option 1D :- 3024,
Answer Given:- 1, Option ID : -3021

Question ID:- 757
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fRder: : sreffafae TETer TEAAT FRTETCATIAT (AFATHF T STHAT7
7 AT

“FREETT FAS | FOHAA AEas SRTAAer |7 # 7VT vA A
qFT FOAGTETEEA TAOA: YT F FEEHedT ZT RO
IEIER RIEE T s E e 10 | A a1 - e G D E R e D C R e e T D)
TETR" | AT AT R AT AT T AT TR
TR 760 JTHHA TTATHTA | ATOATS IFFAAT THE 7HAAFT FaTA 2
AT TE(GHIAT 7 &7 T | TARAAA? A7 327 I5ATg (AL Feam AT
et ™ | “FgT | a7 A" 79 TEAT AT AT, 790 ATieT=gar At |
AATAEAT  TETIATT 1 @ @Y TIEeAn. AEEIeT 7 ATA
TRETET SIS (570 FEaaag] 947 fEaaTasar A g s Jrar
AN TA: - UAT] WA AR | AAA ATOA| A e
A AAAEAZa 7577 77 ouq 79 Ay | = afe@Zy oo 57 -
ATroe | Bt =T qet =tEr | e st 39 Fag e
74, AT S a=tAag | 79 FAamer aoerds 20 | AraArnstT
TETHEAada F 99T | 97 7 qOfgd 3741 9 79T 59 -

HIETAT TR AT T 9T5E: WA ?

Options:-

.1, Option ID :- 3025,

. 2, Option ID :- 3026,

. 3, Option ID :- 3027,

. 4, Option 1D :- 3028,

Answer Given:- 4, Option ID : -3028
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fRder: : sreffafae TETer TEAAT FRTETCATIAT (AFATHF T STHAT7
7 AT

“FREETT FAS | FOHAA AEas SRTAAer |7 # 7VT vA A
qFT FOAGTETEEA TAOA: YT F FEEHedT ZT RO
IEIER RIEE T s E e 10 | A a1 - e G D E R e D C R e e T D)
TETR" | AT AT R AT AT T AT TR
TR 760 JTHHA TTATHTA | ATOATS IFFAAT THE 7HAAFT FaTA 2
AT TE(GHIAT 7 &7 T | TARAAA? A7 327 I5ATg (AL Feam AT
et ™ | “FgT | a7 A" 79 TEAT AT AT, 790 ATieT=gar At |
AATAEAT  TETIATT 1 @ @Y TIEeAn. AEEIeT 7 ATA
TRETET SIS (570 FEaaag] 947 fEaaTasar A g s Jrar
AN TA: - UAT] WA AR | AAA ATOA| A e
A AAAEaZa 7597 77 Toaq 79 gy’ | = afe@y aom 57 -
ATroe | Bt =T qret =tEr | e st 39 Fag e
74, AT S a=tAag | 79 FAamer aoerds 20 | Aty
TETHEAadaT 7 99T | 97 7 qOfgd 3741 9 79T 59 -
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(3) ATEAT=TH
(4) ATTFHAT=TH
Options:-

.1, Option 1D :- 3029,

. 2, Option ID :- 3030,

. 3, Option ID :- 3031,

. 4, Option 1D :- 3032,
Answer Given:- 1, Option ID : -3029
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THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A

HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA: FATAT AT=3d — AT & F7oierq 2

THAT AAZA — TAMI 2UEl TATEIH HAfE | 39T Iel J9IT 9907 geie
HEYT AFATA — A7, Frgel TOtHa o7 o] 91EH | 777 = qfAf31 7357 5oy
IO AT 97] TR Afe B oiras 939 | I8t 939 - g 9 =7 woate
? IR FFA TEA JTAFAH ? THA. AAZA — A4 g HAA TIH FY AT T
FIEATH |

THAT FAT — A7 | T AAT 9 T |

Options:-

.1, Option ID :- 3033,

. 2, Option 1D :- 3034,

. 3, Option ID :- 3035,

. 4, Option ID :- 3036,

Answer Given:- 3, Option ID : -3035
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fRder: : sreffafae wETer T3 FRTETCATIAT (AFAT T T STHAT7
I fAqT

TF: AT THA: THT FTHIA THAT | FTIFIET Ao THA: ATAHT AHHT=5,
THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A

HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA: FATAT AT=3d — AT & F7oierq 2

THAT AR — TAMI 2UEl TATEIH HAfE | U9 Uel J9ITT 9907 geiq
HEQYT AFATA — A7, Frgel TOtHa o7 o] 9 | 777 = qAf31 35T 5oy
IO AT 97] TR AfE B oiras 939 | I8t 7939 - g 9 =7 woate
? TR FA TEA JTAFAH ? THA. AAZA — AAHd d FAA TIH FY AT T
FIEATH |

THAT FAT — A | T AAT 9 T |

FIE=g 3T THA: K390 AqAT ?

Options:-

.1, Option ID :- 3037,

. 2, Option ID :- 3038,

. 3, Option ID :- 3039,

. 4, Option ID :- 3040,

Answer Given:- 3, Option ID : -3039
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fRder: : sreffafae wETer T3 FRTETCATIAT (AFAT T T STHAT7
I fAqT

TF: AT THA: THT FTHIA THAT | FTIFIET Ao THA: ATAHT AHHT=5,
THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A

HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA. HATeAT AT=5d — AGAT B F7ofmq ?

THAT AAZA — TAMI 2UEl TATEIH HAfE | 39T Uel J9IT 9907 gede
HEQGT qFATH — A7, Fgel TOHa o7 o7 F1AH | 7% = 7 3 ma7T 5o
IO FrAT HE] TR AT PR oras 997 | I9AT 939 - a7 =3 Faaf
? TR @ FET QA ? THA HAAZA — AT g AHT TTH AT AT T

FATH |

i~
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(2) FUET ATFRIZTA
(3)

(

Options:-

.1, Option ID :- 3041,

. 2, Option 1D :- 3042,

. 3, Option ID :- 3043,

. 4, Option ID :- 3044,

Answer Given:- 1, Option ID : -3041
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fRder: : sreffafae wETer T3 FRTETCATIAT (AFAT T T STHAT7
I fAqT

TF: AT THA: THT FTHIA THAT | FTIFIET Ao THA: ATAHT AHHT=5,
THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A

HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA. HATeAT AT=5d — AGAT B F7ofmq ?

THAT AR — TAMI 2UEl TATEIH HAfE | 99T Iel J9IT 9907 gedd
HETGT AT — A7, Fgel T o7 o7 F1AH | 772 = 7 3 ma7T 5o
IO FrAT W] TI ATE PR oras 997 ) I9AT 939 - g 7 =3 waafs
? TR AA TS QAFAH ? THA HAIA — AT HHT TH AT AT T
FIEAT |

THAT FAT — A | TEATT AAT 9 T |

1) THA: FTIIA ToATALT

(
(2) THATAFATA 7 2TF Al 7T
(3) STAATHT THA: [ TTH AT=A
(4) Z7ET THA: TATEATH FATIOAAT

Options:-

.1, Option ID :- 3045,

. 2, Option 1D :- 3046,

. 3, Option ID :- 3047,

. 4, Option ID :- 3048,
Answer Given:- 3, Option ID : -3047
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fRder: : sreffafae wETer T3 FRTETCATIAT (AFAT T T STHAT7
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TF: AT THA: THT FTHIA THAT | FTIFIET Ao THA: ATAHT AHHT=5,
THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A
HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA: FATAT AT=3d — AT & F7oierq 2

THAT AR — TAMI 2UEl TATEIH HAfE | 39T Uel #9079 9907 gede
HEYT AFATA — A7, Frgel TOfHa o7 o 91 | 777 = gAf3" 35T 5oy
IO AT 97] TR Afe B oiras 999 | It 5939 - g 9 =7 woate
? IR FFA TEA JTAFAH ? THA. AAZA — AT d FAA TIH FY AT T
FICATH |

THAT FAT — A | T AAT 9 T |

-

"TSATAT T T F TH 2

Options:-

.1, Option ID :- 3049,

. 2, Option 1D :- 3050,

. 3, Option ID :- 3051,

. 4, Option ID :- 3052,

Answer Given:- 4, Option ID : -3052

Question ID:- 764

Scan with Fast Scan


https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader
https://play.google.com/store/apps/details?id=camscanner.documentscanner.pdfreader

fRder: : sreffafae wETer T3 FRTETCATIAT (AFAT T T STHAT7
I fAqT

TF: AT THA: THT FTHIA THAT | FTIFIET Ao THA: ATAHT AHHT=5,
THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A

HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA: FATAT AT=3d — AT & F7oierq 2

THAT AR — TAMI 2UEl TATEIH HAfE | 39T Uel J9IT 9907 geq
HEYT AFATA — A7, Frgel TOfHa o7 o 9 | 777 = gfAf3q a5y 5oy
IO AT 97] T Afe B oiras 939 | I 7939 - g 9 =3 woae
? IR FFA TEA JTAFAH ? THA. AAZA — AAHd d HAA TIH FY AT T
FIEATH |

THAT FAT — A | T AAT T T |

FATAT 9T F: [T T AT 2

Options:-

.1, Option ID :- 3053,

. 2, Option ID :- 3054,

. 3, Option ID :- 3055,

. 4, Option ID :- 3056,

Answer Given:- 3, Option ID : -3055

Question ID:- 765
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fRder: : sreffafae wETer T3 FRTETCATIAT (AFAT T T STHAT7
I fAqT

TF: AT THA: THT FTHIA THAT | FTIFIET Ao THA: ATAHT AHHT=5,
THAT ATAZA — TAIA | 2 T o7 ATARH | FZ[ TAH 300 Tedl 312 | A

HATAT AT T T TATIATH | 99 FF A7 AT |

THAT AAZA — AATAI T FATEH ATALATH 2 797, TF gUel AT #7001 | 77
FAATA | THA: FUSHATATAA | A9 7 AA3q — FLAT 5 F7007 2 THAT A737 -
%z FT: q49 | T TAT T JAT A9T | THA: T2 T qA9F A=5q | T
? T FoAT TEIE TSATAAT | §T F A]=9q — qgAT1 BF F7arfor 2 a7eAr
qAZA — F2TA 20 Tl T | 79: 01 AT IT7 =TT |

TTEAATT T T — ALAT 2 A A= — FAT gL AL TATIT |
THA: g0l AT e T=giq — AT 2 T9ar 2o — 790fa = 5 |
THA: FATAT AT=3d — AT & F7oierq 2

THAT AAZA — TAMI 2UEl TATEIH HAfE | 39T Uel J9IT 9907 geie
HEYT AFATA — A7, Frgel TOfHa o7 o] 91 | 777 = qfAf31 7357 5oy
IO AT 9F] TR Afe B oiras 999 | I9eAt 7939 - g 9 =7 woate
? IR FA TEA JTAFAH ? THA. AAZA — A4 d HAA TIH FY AT T
FIEATH |

THAT TAFA — A¥q | TEATA AAT T T4 |

‘TSATA 9% F: T AT 2

(=
(2) 719
(3) ™
(4) 71T
Options:-

.1, Option ID :- 3057,
. 2, Option ID :- 3058,
. 3, Option ID :- 3059,

. 4, Option ID :- 3060,
Answer Given:- 4, Option ID : -3060

Subject : Sanskrit_Q136-150_L2_P1_CTET

Question ID:- 766
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FIAE-19" AFTHFIT AT TATAT: a’ﬁrﬁT AT | AT AT, T

= IS0 TAA T A5 | TAZ A7 3 F277 ?

(1) =M+ (Extensive) A£TTTH
(2) TAATHFAH (Scanning)
(3) FAETT-zfeaE-Aea = (Skimming)
(4) TEA-FEATAH

Options:-

.1, Option ID :- 3061,

. 2, Option ID :- 3062,

« 3, Option ID :- 3063,

. 4, Option 1D :- 3064,
Answer Given:- 2, Option ID : -3062

Question ID:- 767
AT AT AFAATaTT: & #rray afeq ?
1) 7T TTaToT

(
(2) FETTH-7 TS 17T AT
(
(

3) sreaforraTaT
4) IFtorarar: amT
Options:-
.1, Option ID :- 3065,
. 2, Option ID :- 3066,
. 3, Option 1D :- 3067,

. 4, Option ID :- 3068,
Answer Given:- 2, Option ID : -3066

Question ID:- 768

2020-7Tg-forar-Atafamr ety & Je 2

(1) Zrer: AT {T 9T =ATH 3 910 AT 2 |

(2) T @A AT 9T THET GrEAaTeT AEAT arEAT (Classical)

qTOT TI7 |
(3) =T wefraryy A wroey meT Aqrar fERefiaT =
(4) T FfaTy A G TR G AreA T S

Options:-
.1, Option ID :- 3069,
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. 2, Option ID :- 3070,
. 3, Option ID :- 3071,
. 4, Option ID :- 3072,
Answer Given:- 3, Option ID ; -3071

Question ID:- 769

o

T5F AT (Semantic Cue) e e 2

(1) =

(2) or==TAT 3 AT

(3) FATHFZIATAET AAFTTT T
GERIECILPIERISIERE IR

Options:-

.1, Option ID :- 3073,

. 2, Option 1D :- 3074,

. 3, Option ID :- 3075,

. 4, Option ID :- 3076,

Answer Given:- 4, Option ID : -3076

Question ID:- 770

‘T AT FErerEf AT v AgETTT eEeT | 739, A9 3 9T,

GTAFT: AT AT ATTATA |7 TAA FTA |

Options:-

.1, Option ID :- 3077,

. 2, Option ID :- 3078,

. 3, Option ID :- 3079,

. 4, Option ID :- 3080,

Answer Given:- 1, Option ID : -3077

Question ID:- 771
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fATT (NIPUN) affet

(1) ST7ATAF=T  eaarT  (Flagship) FTI#®: T97 3299 2025 A7
AT ATAT: ATATATAT: FATATTT T AT 7
(2) 2028 T IFIoTATAT: FrdiEeTer TS
(3) TTE - AT AT-ATH AT
(4) TTgr-forar-gt=Ata:
Options:-

.1, Option 1D :- 3081,
. 2, Option ID :- 3082,
. 3, Option ID :- 3083,

. 4, Option 1D :- 3084,
Answer Given:- 1, Option ID : -3081

Question ID:- 772

T T A T8 g3t a7 7 T2 g7 7= | TEy B 3s 2
O EECRIEERIECFIEIES

(2) @A+ WA hEar-wAta:
(3)
(4)

3) ATTAHTATA-ATAAT AL
4) FeporaraTa AT
Options:-
.1, Option ID :- 3085,
. 2, Option ID :- 3086,
. 3, Option ID :- 3087,

. 4, Option ID :- 3088,
Answer Given:- 4, Option ID : -3088

Question ID:- 773

(1) TR o aTamT. e TeFaq TATTIAeT |
(2) arar-forsror, FrEr-araT forsmr 7 )
(3)?1_'1'/ TATFTAT PTFFOTTATOTH Foramm |
(4) FA 2

STeAAT AAATH |

Options:-

.1, Option ID :- 3089,
. 2, Option 1D :- 3090,
. 3, Option ID :- 3091,
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. 4, Option ID :- 3092,
Answer Given:- 4, Option ID : -3092

Question ID:- 774

AT 9577 T T ATHF-AETTA-ATTT T 727 2

1) TOFATHF FH

3) wiwaT-afafar:

(
P EERRIREAICE |
(
(4) TFTEA-TfA:

Options:-

.1, Option ID :- 3093,
. 2, Option ID :- 3094,
. 3, Option ID :- 3095,

. 4, Option 1D :- 3096,
Answer Given:- 1, Option ID : -3093

Question ID:- 775

T T FAA | T g A 2

1) T AT AT AT A9 (Feedback) 73311 |

2)
3) 7 =T ETeraTETH T T At |
A4) T FITTEIAT-HA FALATTA F2007 |

-":{";QMIUH 'i_\l'Jl"'I‘ FAT |

(
(
(
(

Options:-

.1, Option ID :- 3097,

. 2, Option ID :- 3098,

. 3, Option ID :- 3099,

. 4, Option ID :- 3100,

Answer Given:- 4, Option ID : -3100

Question ID:- 776
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FIAF ARATTH: ATHTFATAT: AT A6, THET AT I TAT TTH-GFATHT,
A=A -FATHTAT T 37 J=991 9T F#9917, 79 387 = FsmTe st
T At | 9 g R Feaa 2

Options:-

.1, Option ID :- 3101,

« 2, Option ID :- 3102,

. 3, Option ID :- 3103,

. 4, Option 1D :- 3104,

Answer Given:- 1, Option ID : -3101
Question ID:- 777

ATITAT: HLTTTH ATAA

1) |rar-fargmerm=m

(

(2) qTIT-9TTHEH
(3)‘“'41-0‘41*“”&1
(

4) Tormr- Az -araT

Options:-

.1, Option ID :- 3105,

. 2, Option ID :- 3106,

. 3, Option 1D :- 3107,

. 4, Option ID :- 3108,

Answer Given:- 4, Option ID : -3108
Question ID:- 778

forar-srersdr: szeaq a1t

Options:-
.1, Option ID :- 3109,
« 2, Option ID :- 3110,
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. 3, Option ID :- 3111,
. 4, Option ID :- 3112,
Answer Given:- 2, Option ID : -3110

Question ID:- 779

FLTAT T TZA T ?

Options:-

.1, Option ID :- 3113,

. 2, Option ID :- 3114,

. 3, Option ID - 3115,

. 4, Option ID - 3116,

Answer Given:- 3, Option ID : -3115
Question ID:- 780

T I AT B JfeT 2

(1) TH T FT7 29T T T9eq GTOTAT: ALTAT- AT T4 |

(2)F7 T AT E g ATZed T G geraa-aEarTa T F
TS |

(3) AT FEAAT-ALATIA T T+ H |

(4) ATITAT: ALTAF-ALATTATT FAT=T0T FEATTHT 79 T F==+4 |

Options:-

.1, Option ID :- 3117,
. 2, Option ID :- 3118,
. 3, Option ID :- 3119,

. 4, Option ID :- 3120,
Answer Given:- 2, Option ID : -3118

TOFRATIT. T T2 TEAT= @4 924 T\ 30N #A0A |
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